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N = 0l & At & Ml A

20209 = 20la LB IIEISESH DEs ~ FRS
SM: Ba2s
HE: =0l #N MO 9 (HM2S)
el EOIMERY CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FA2s 834,106 742,407 91,699
F0 MY Ho SR(FA2E) 133,840 86,440 47,400
FUMHZY 133,840 86,440 47,400
=.Bt& K& 117,000 82,000 35,000
301 LPEAZF 117,000 82,000 35,000
05 8% -0 -tH¥ESE4S 117,000 82,000 35,000
1.8 8=gL 8=t 117,000
FIlE=g 300,000& x25H «12& 90,000
L. &= 300, 0003 259 #23| 15,000
Ch.3l o & A =g 20,0003 «25F «23|« 128 12,000
FOUMXNHMHEZOH 29I 3,980 1,580 2,400
201 €24l 3,980 1,580 2,400
01 At 22l 3,980 1,580 2,400
(Zer==gHl) 3,980
1.FE XX EEH2E 100,000& 122 *90% 1,080
2.2Jt0HE 25,000 204 500
J.FURNXNLAEH 2A=E (232Ut A)
25,0002 *8Al 2+« 122 2,400
PSRN | 2,860 2,860 0
307 glz2tol & 2,860 2,860 0
05 RIZHRI &t 3 2,860 2,860 0
.oz aelidss2 220,000& 128 2,640
2ENFEIGHUH LR
110, 000% * 104 22 %23 220
FOENOA XF3 oA 10,000 0 10,000
401 Al HIZ 201 8] 10,000 0 10,000
01 A& HI 10,000 0 10,000
.o xd (2 XEs9)
10,000, 000& 14! 10,000
SAIDJIBFAIE B (B A2S) 5,000 5,000 0
S ADJIBEAIE FHI 5,000 5,000 0
AE==2 ANEE FH 5,000 5,000 0
401 Al HI K 201 I 5,000 5,000 0
01 A& HI 5,000 5,000 0
1.A2S ANEE AL 5,000,000& » 14! 5,000
HY2FZH (B A2S) 695,266 650,967 44,299
ol 2 gl 618,145 576,516 41,629
ol 2AH| 618,145 576,516 41,629




ro e o
JU0x >z

N
O

Zl(
H

H0 Mo
092 09
o

&S

SN FH-SA(EN) - MBAY - BES

101 @124 b 595,165
01 22 595,165
(=23) 421,284
120y 82,125
P[5 78,966,0002! *1 78,966
Lh. X2l 78,966, 0002 *4% 3,159
2.X3g (1Y) 339,159
ot.62(2552) 3,978,900% 2% » 12 95,494
Lh.72(95 2 2,571,900% 3% » 122 92,589
Ch.83(632 2,050,200% 42 » 12 98,410
2t.02 (352 1,650,8002! x22 » 12 39,620
Ob. X 2 & bl 326, 133,000 4% 13,046
(&ofag) 34,384
1324 339, 159,0002 *1/12 28,264
.24l 6.120
D251 01 & 130,0002! +22 » 122 3,120
Lb.58 01 &~102 018 50,0008 «5% « 128 3,000
Gl =) 24,216
1.otEag 7.920
JF.HH 2 Xt 40,0002 *5% » 122 2,400
Lt JIEHLS 20,0002 +7% * 122 1,680
=y 'PUIE 60,0002 ¥22 » 12 1,440
2F. A I Xt A 100,000%! 224 » 122 2,400
2.80tEX 4 1,358,0002! 12 » 122 16,296
(S+224%) 15,480
1.S4524 15,480
tE284 70,0008 112 « 128 9,240
Lh.oage 50,0008 *3% » 12 1,800
CHAIBISXIQ R4S 70,0008 «4% <128 3,360
ohASI S X Y242t
30,0002 ¥3% » 122 1,080
(zn224%) 47,165
LA 2R
10,509 34 Al 2+ 11H x12& 47,165
(H24 S) 52,636
1.5 3 A 130,0008 128 128 18,720
2.9 = EH| 339, 159,0002! *1.2/12 33,916
204 24+ AL| 22,980
02 M3 x| 22,980
=] 22,980
.53 250,0009! * 12«12 3,000
Lt.63 165,0002! +22 » 122 3,960
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SN B2
H: HMSAAH (B A2S)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
Ch.72 155,000& *3H x12& 5,580
cl.8~9= 145,000& x6H 128 10,440
| 23t 77,121 74,451 2,670
Jl2&l 77,121 74,451 2,670
201 Bt A H| 34,701 33,811 890
01 At 22| 19,110 18,294 816
(QursgH) 10,842
LENSYL 2 300, 000! * 122 +80% 2,880
2.0HIZ2E R MREE 100,000& =128 1,200
3.els0|el = 20,000& *40 12& 960
4. 40 HEH 200, 0003 *4CH x33] 2,400
5.dioldEd™ 200,000& 83| 1,600
6.F0SESsx2L=EX 26,000 * 172 A 442
70USHNEZIEESLE X 80,0003 x78F A 560
8.2 AE Xl 20,000& 408 A 800
(2xt2) 756
1. 80| 30,000& *1CH*x12& 360
2.2J|EFHI(EAH 33,000& 10~ 12& 396
(29+<) 600
1. 92856 60,000& x1H ~10 600
(Z2dl) 6,912
1|28+ EZ2ZAHI
8,000& x6A!Ix12H x12& 6,912
02 32494l 15,591 15,517 74
(BZ222LAHA) 12,007
1.28H2 3,027
Jb. Bt 3803 x90H x12& 411
L. S9I 2,180& *10024 x12& 2,616
2. 80|12 600,000& x12& 7,200
3. 40t 2 40,000& «12& 480
4 B} XEH AL 100, 000& *13] 100
5. 8™ (MIIXEER
1,000,000 x1CH*13] 1,000
6. HAEX(HI|XF) XS XA
130,000& *1CH *x 13 130
7T HEXNEHEIEAAE=EES  70,000& *1CH*13] 70
(=24l) 1,200
1.AFR A 1,500& x40 *4A| 2Fx50L 1,200
(Al ZHHI S XIHI) 2,384
1.83AIA 2 1,000, 000& 1,000
2.2 AE S| 100, 000& *1CH 100
3.2 50, 000& *3CH 150
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N = 0l & At & Ml A

20209 = 20la LB IIEISESH DEs ~ FRS
SM: BA3S
Ha: =0l #N MO 2(HMIS)
chelr FOME 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S A3S 987,722 928,698 59,024
F0 MY Ho TR (FA3S) 223,161 150,174 72,987
FoHH 29 223,161 150,174 72,987
=.Bt& K& 140,400 98,400 42,000
301 LPEAZF 140,400 98,400 42,000
05EH 0% - BRES2AZ 140,400 98,400 42,000
1.88+9 & &3t 140,400
FIlE=g 300,000& *30H «12& 108,000
L. &= 300,000& 30 #23| 18,000
Ch.3l o & A =g 20,0003 30«23« 128 14,400
FOUMXNHMHEZOH 29I 36,020 32,820 3,200
201 Yet2 | 32,820 32,820 0
01 At 22l 32,820 32,820 0
(Zer==gHl) 1,620
1.FE XX EEH2E 150,000& 122 *90% 1,620
(2g=4¢) 31,200
1.:2UXEE ZAE 31,200
b AEZEHA 25,0002 *8Al 2+ x 122 2,400
Lh X EHA 25,0003 *8Al 2t+128 2,400
ot 25,0003 *8Al 2+ =122 2,400
et JISHE 25,000 *8Al 2t x 128 2,400
OF. A Oil B 25,0003 *8Al 2t 128 2,400
HE.Z 20l g 25,0003 *x8Al 2t 128 2,400
M OEWA 25,0003 x8Al 2+ 12 2,400
Ob. Y H = 25,000 *8Al 2t x 122 2,400
. 2es 25,0003 *8Al 2t 128 2,400
. 2IH(F24) 25,000 *8Al 2+ x 122 2,400
Jt.EH=3 25,0003 *8Al 2t+128 2,400
Eb.2Jt(0k2H) 25,0003 *8Al 2+ x 122 2,400
ot AF2 A 25,0003 *8Al 2+ x12& 2,400
405 XtAtE SHI 3,200 0 3,200
01 XML =S ZH SHI 3,200 0 3,200
TSI (AHES) 3,200,000 = 1CH 3,200
AR 22 36,741 18,954 17,787
101 @14 Hl 6,317 5,560 757
04 JIZHHZ2XRHEE S 6,317 5,560 757
(SEAMN Fa 282 6,317
1.8+ 5,670
Jb.20 68,7203 /8AI 2t 1H «B5A| 2+ 12 5,670




SM: BA3S
Ha: =0l #N MO 2(HMIS)
chelr FOME 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2ANEXNRE EEE 647
FATHEEZ 5,670,000& =0.908% 52
L. OS282 5,670,000 x2.45% 139
(B R == = 5,670,000& *4.5% 256
ct.2RA2EEE 5,670,000& x3.23% 184
O S EIIRABES 184,000 *8.51% 16
307 21201 A 3,224 3,224 0
05 BIZIRI & 3 3,224 3,224 0
1.Ro 3 el = 240,000 128 2,880
2.HAHI MR =2
171,600& 100 & %23 344
401 Al HI YL 201 I 27,200 10,170 17,030
01 A& HI 27,200 10,170 17,030
1.3t 84 22288 3A 15,000,000 =14l 15,000
2.dZ=NMHEE O X 3AM
11,000, 0002 14! 11,000
3.4/ 30 EXSAt 1,200, 000& =14 1,200
FOEAMA XIH3 oA 10,000 0 10,000
401 AIEHI L 2CHEI 10,000 0 10,000
01 A& Bl 10,000 0 10,000
1.7:088 #HFANANE X (2 XS39)
2,500,000& »24! 5,000
2.ANBY SH SR SHHEXNE AX(F X
A39) 5,000,000& »14! 5,000
SAIJIBEAIE FHI(EA3S) 5,000 5,000 0
S AIDJIBEAIE FEHI 5,000 5,000 0
AZS=2 ANEE FHI 5,000 5,000 0
401 A& HIZ 2018 5,000 5,000 0
01 A& HI 5,000 5,000 0
1.Aa=5 AMES RA2L 5,000,000& x 14! 5,000
HYRFZH (FA3S) 759,561 773,524 213,963
el 2 671,285 682,116 210,831
ol 2| 671,285 682,116 210,831
101 124l 646,565 657,996 A 11,431
01 2= 646,565 657,996 A 11,431
(22) 472,674
1.HSH0Y) 82,125
.= 78,966,000& »1H 78,966
Lt. ™ &l 78,966,000 *4% 3,159
2.8z (129) 390,549




SH EMSE
B #HSAPY (HLU3S)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
t.e=(26s8) 4,022,4003 x2H x128 96,538
L.72(1788) 3,193,100 x3H x 123 114,952
Ct.e=(72=) 2,141,000 x4H x 123 102,768
et.9=2 (45 8) 1,701,900 »3H 123 61,269
Ot. M <&l 375,527,000 *4% 15,022
(840 =¢) 37,826
1.82=+% 390,549,000& *1/12 32,546
2.832xEt= 5,280
Jb. 254801 & 130,000& 1H 128 1,560
Lt.20E 01 &~25 012 110,000 » 1H » 122 1,320
Ct. 15501 &~20E9 012t 80,000& «1H 128 960
ct. 100l &~15E 0|12t 60,000 2 »12& 1,440
(OtARAE) 7,397
1.5 5,520
Jb. B Xt 40,0003 x4H 128 1,920
Lt JIEDES 20,0003 x9H 128 2,160
CH.2M X4 60,0003 x2H 128 1,440
2. NHHEHERESE 469,080& x 18 x4D| 1,877
(E=22=+4) 17,880
1.5=882+4 17,880
h.s2f+4 70,0003 x 128 128 10,080
L. oAgese 50,0003 x3H 128 1,800
Ct AL =2Rg 22 70,000 x5 « 122 4,200
et ASI S XY RIS
30,000 x5 « 122 1,800
(ZB224Y) 51,453
At 2R ag
10,5093 *34A| 2tx12H 128 51,453
(ah2ea 5) 59,335
1.8 U g Al 130,000& = 13H 128 20,280
2. BEF Oty 390,549,000& *1.2/12 39,055
204 AR A H| 24,720 24,120 600
02 &g 2 Xl 24,720 24,120 600
1. 828Xt 24,720
t.53 250,000& x 18 128 3,000
Lt.62 165,000& »2H «12& 3,960
tt.72 155,000& 3 128 5,580
ct.8~93 145,000 x7H 123 12,180
JlE3l 88,276 91,408 N 3,132
JlE&l 88,276 91,408 N3,132
201 L2l 43,116 43,508 A 392




SH EMSE
B #HSAPY (HLU3S)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
01 At 22l bl 18,698 19,334 A\ 636
(get==24|) 10,610
1. 28298l 300,000& *13H *80% 3,120
2.0HZER2ANREE 100,000& ~12& 1,200
3.FUSESTE2EN 26,000 *255F A 650
4 02ZSHANELSEX 80,000& » 128 A 960
5. 4100 & H 200, 0003 *4CH *33] 2,400
6.4101 HEH 100, 000& *3CH *x23] 600
7.20&50|2l2 20,000& *3 «6& 360
8. HAEYH 90, 000& *2CH *x23] 360
9.2 AE X 20,000& x128F A 240
10. 85D X 30,000& =128 =2CH 720
(29+<) 600
1.9=xa56 60,000& x1¥H ~10 600
(2dl) 7,488
fol2gesssagalyl
8,000& x64A! x13H x12& 7,488
02 33249l 24,418 24,174 244
(B222 2 WAl 19,222
1.2#H2 4,119
Jb. Bt 380 *10024 x12& 456
L. S9I 2,180& x14024 x12& 3,663
2.87122 900,000& x12& 10,800
3. 4Gt 2 130,000& ~12& 1,560
S =t N 300,000& *13] 300
5. A0 =STVAIE & 7, 7003 10 =122 93
6. SR 960
I ANSXHEEE 800,000& x1CH*13] 800
Lt. Xb= XHA 100,000& *1CH*x13] 100
Ch.8JIZEAMNsx=E 60,000 *1CH*13] 60
7. XFEH2XNXE 1,390
b AsXEE = 1,200,000& = 1CH =13/ 1,200
Lt. Xk = X+l 130,000& *1CH x13] 130
CH.E8IIZA =SS 60,000%1CH =13l 60
(AIE ZHI S XIH]) 5,196
1.Z3ANAES X E 2=H| 2,000,000 2,000
2. A 100, 000& =2LH 200
3.2 D] 50,000& =2CH 100
4 HH Y S EH| 100, 000& *1CH 100
5. 2010l Al A8 X2 4H|
33,000 *43| *3CH 396
6. KNS AAIAE X2 2H|
30,0002 *1CH*x12& 360
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N = 0 &8 AFH Y & A AN
20208 = =204 LB A JIEISEEH DS ~ 22S
SN s
M 3o #E MO TR(LAS)

Sl FUMESY (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
et 959,647 938,671 20,976
F0 MY HO C2(LS) 217,562 159,200 58,362

FOHEH2Y 217,562 159,200 58,362
S NN 163,800 114,800 49,000
301 deEtE X = 163,800 114,800 49,000

0B SHE-0& - -EtEes8a3 163,800 114,800 49,000
1.8&8Y 2 25| 163,800
bolEsg 300,000& x35H x12& 126,000
L. &= 300,000& 359 *23| 21,000
Ch. &8¢ 20,0003 *35H x23| x12& 16,800
FOUXXNAHEZ ) 2H 34,370 30,720 3,650
201 Bt A H| 30,420 30,420 0
01 AFR2 2t 2l Yl 30,420 30,420 0
(etE4ddl) 1,620
1. =0 XX A B 2 b 150, 000& = 12& *90% 1,620
(2g94+4) 28,800
1.0 AR HE 2AE 28,800
b, =2t Al 25,000 *8Al 2Fx 101 A %12 2,400
L. Ot Al 25,0003 *8Al 2t x 10 A= 12& 2,400
Ch.erorch A 25,0003 *8Al 2tx 101 A %128 2,400
ch.Jtw Al 25,0003 *8A| 2 x30M A x12& 7,200
0.8 =204  25,000& «8Al 2tx1J1 A x12& 2,400
b &2 A 25,0003 *8Al 2tx 10 A~ %12 2,400
AL FEXY DA
25,0003 *8Al 2tx 10 A~ %12 2,400
Ot.CIOIHEH A
25,0003 *8Al 2tx 10 A+ 12 2,400
A Ot2 L2t A
25,0003 *8Al 2tx 10 A+ 12 2,400
NN EIR==| BTF
25,0003 *8Al 2tx 10 A+ 12 2,400
405 XtabF SHI 3,950 300 3,650
01 AL 2B F SHI 3,950 300 3,650
1.88&H (JIn4) 3,950,000 * 14 3,950
HAIS X 22| 9,392 8,680 712
101 2124 1| 6,272 5,560 712
04 J|ZtH2ZXNEE S 6,272 5,560 712
1.538AN 34 002Y 6,272
ole=s
68,7202 /8Al 2 x1H «55 A 2Fx 1200 & 5,670
LE.ATHE S 5,670,000& *0.908% 52
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SN S
ol F0 #H HO T2(L-H
Sl FUMESY

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Ch.nE8d 5,670,000 *1.65% 94
ct.2o0dA=22d 5,670,000 *4 .5% 256
0. 20072428 5,670,000 *3.23% 184
F QA RAYES 184,000& *8.51% 16
307 212t0| ™ 3,120 3,120 0]
05 QI2t &2 3,120 3,120 0
1. 2002l =+2 230,000& x12& 2,760
2ANTIGHHYELHE
180, 000 * 1 A %23 360
FOIE Ol A KD OAS 10,000 5,000 5,000
201 LBt 10,000 5,000 5,000
01 AP 22| H| 10,000 5,000 5,000
(AtetXlE 2IisUl 2128 Y2121)(F XNEa9) 0
12807 & GAMIIE=S ME 3,000,000 =14l 3,000
(¥ 27U A o) (7 REs9) 0
1. &880 & 4,000,000 = 1A 4,000
(N F0 &0l RS wAS QST 2H Q)
2 Xe39) 0
1.288 MZ 1,500, 000& 14! 1,500
2.3A2E F¢ 1,500, 000& = 14! 1,500
T AIDIBIAIAE AHHI(RS) 5,000 5,000 0
T AIDJIBHAIE A H| 5,000 5,000 0
A2BS AMAES H| 5,000 5,000 0
401 AlEHIZL 2 0HY| 5,000 5,000 0
01 Al gl 5,000 5,000 0
1.4023 AlEES X222 5,000,000 =14l 5,000
HHSAAY (= HE) 737,085 774,471 £37,386
olad 2 A Y| 645,753 681, 149 A 35,396
oled A Y| 645,753 681, 149 A 35,396
101 @121 | 619,173 657,029 N 37,856
01 = 619,173 657,029 N 37,856
(23) 442,621
1.2/ (1Y) 82,125
.S 78,966,000& x1H 78,966
LE. XS0 & HI 78,966,000 x4% 3,159
2. 828 (129) 360,496
.62 (225 2) 3,833,200 2 x12& 91,997
L.7209s82) 2,571,900 »32% x12& 92,589
th.s=2(6s=) 2,050,200 x4 x12& 98,410
.92 (5 &) 1,767 ,600& 3 x12& 63,634
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SN s
M M2AHH(2s)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
OF. H <0 &I 346,630,000 *4% 13,866
(M0 2=g) 37,482
1. 824 360,496,000 x1/12 30,042
2. 832Gt 3 7,440
JF.25E 0] & 130,000& *4H x12& 6,240
Lt.5% 0] & ~10E 0| B+ 50,000& x2H x12& 1,200
(@IF:=RSEN=) 5,520
1.5 5,520
OF. Ui S Xt 40,000 x7H x12& 3,360
LE.JIEHIS 20,000& x4H =128 960
Ch.= M AHE 20,000& x2H x 128 480
ch. =M X4 60,000& *x1H x12& 720
(E4222Y) 19,920
1.€Ex322H 19,920
h.s22xY 70,000& 13 x12& 10,920
L. Ol RS 50,000 *3H x12& 1,800
C AR =SXgR22 70,0002 x6H x12& 5,040
2 AISI S X LRSI S
30,000& x6H x12& 2,160
(Z2224g) 55,740
1A 22+Y
10,509& *34 Al 2Fx 13 x 128 55,740
(M-I E2ASE) 57,890
1. 3N Z A Y| 130,000& 14 x12& 21,840
2. @& S JtH| 360,496,000 x1.2/12 36,050
204 = 2 4= A H| 26,580 24,120 2,460
02 &= & x4 26,580 24,120 2,460
1.8 32 XH| 26,580
ot.52 250,000& x 1 x12& 3,000
Lt.6=2 165,000& x2H «12& 3,960
Ch.72 155,000& x4 x12& 7,440
ct.8~9=2 145,000& *7H ~12& 12,180
PIEET 91,332 93,322 ~1,990
Jl2&H| 91,332 93,322 A 1,990
201 2yt 2 Y| 43,472 43,322 150
01 At 22l ] 20,658 20,658 0
(eeta=H|) 10,410
1. 2829 +8H| 300,000 *14H «80% 3,360
2.0HZ2SER2MNEES 100,000& *12& 1,200
3. 40 HE Y 200, 000& *3CH x43] 2,400
440" 100, 000& *3CH 13 300
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2N ERE
M M2AHH(2s)
erel: Jl= 2| (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
5.2AMNEEIEY 130,000& *2[H * 13| 260
6.5. =221 26,000 *258F A 650
7.023HLZIESEN 80,000& »158t A 1,200
8.2AE Xl 20,000 »402 A 800
9.e1=sJ|el= 20,000& 10~ 12& 240
(2d4Y) 600
1.2=2 60,000& *1H %10 600
(2&dl) 8,064
1JI2gR+HEZ S A HI
8,000& x6A/ x14H x12& 8,064
(LX) 1,584
1. 80| 30,000& x2CH x12& 720
2.3J|8&D] 864
O FOHE(142E) 18,0002 *20 x 120 & 432
L ZOIXXIAE (148E)
18,000 »2CH x 1204 & 432
02 33249l 22,814 22,664 150
(B222 ¢ HMA) 18,898
1.28H2 4,380
Jb. Bt 380 *10024 x12& 456
L. S9I 2,180& x15021 x12& 3,924
2. 80|12 950,000& x12& 11,400
3.4 .ot 2 80,000& x12& 960
4 HOISTVAIS & 7, 7003 x12& 93
53 xdax+r2 195,000& *13] 195
6.XHEE 1,460
ot . SHAE XS 410,000& x1CH =13 410
L. 2¥sg=siiz 1,000,000 =1CH *13] 1,000
Lt.0l & Xt 50,000 *1CH*13] 50
7.8 AMNEEE 60,000& x2CH 13 120
8EYNLLLS(SHERY)
130, 000& ~1CH 130
9. XNSKM(SHE ) 160
.= EY 30,000 *1CH*13] 30
L. S¢sE =X &I|Xt 130,000& *1CH*13] 130
(Al ZHI KX Yl) 3,916
1.8 SEY| 100, 000& * 1 100
2.BMNAHAZE R EHI 900,000& * 14! 900
J.HEXNY RFH| 130,000 x1CH*12& 1,560
4. HE XS =2l 100, 000& *2CH *33] 600
5. 20 &0 A|AE RS X2 £H|
11,0002 x3CH *123] 396
6. KNS NAAIAEI RS X2 £H| 30,000 x12& 360
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N = 0 &8 AFH Y & A AN
20208 = =204 LB A JIEISEEH DS ~ 22S
SA MRS
B F0 ¥F MO SR (MAIE)

Sl FUMESY (B9 ®R)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
AAS 1,049,403 1,019,858 29,545
FOl A HO Q2 (MA1S) 173,150 128,530 44,620

FOHEH2Y 173,150 128,530 44,620
SEHE X 128,360 90,560 37,800
301 deEtE X = 128,360 90,560 37,800

0B SHE-0& - -EtEes8a3 128,360 90,560 37,800
1.8&8Y 2 25| 126,360
bolEsg 300,000& x27H x12& 97,200
L. &= 300,000& *x27H *23] 16,200
Ch.3 o &Y 20,000 *27H x23| x12& 12,960
2.9 &g 25,000& x40Y «23| 2,000
FOXNXNMHEZZ )SHSH 30,070 26,250 3,820
201 L2 Y| 28,020 25,620 2,400
01 AFR2t2l bl 28,020 25,620 2,400
(et dHl) 1,620
1.FUNXMH 2l 150, 000& * 122 *90% 1,620
(294+4) 26,400
1.0 XXI A E 2AE 26,400
oA 25,0003 *8A| 2tx12& 2,400
Ll g8 chA 25,0003 *8Al 2tx12& 2,400
.oz 25,0002 *8A| 2tx 128 2,400
ch. A2 E 25,0003 *8A| 2tx 128 2,400
O Xt Al 25,0003 *8Al 2tx 128 2,400
Bt =< wal 25,0003 *8A| 2tx12& 2,400
A ROt A 25,0003 *8Al 2tx12& 2,400
Of . &t A 25,0003 *8A| 2tx12& 2,400
KA Ol & 25,0003 *8Al 2tx12& 2,400
Xt .ot2 LI It & 25,0003 *8A| 2tx12& 2,400
b &R ua 25,000%8Al 2tx12& 2,400
405 XHaHFE SHI 2,050 630 1,420
01 JHAtY =2 ZF S b 2,050 630 1,420
1 HAI(FOUXNXEE E2E) 400,000 *1CH 400
2. M2 (2AnA ASE0 AFR)
55,000& *20H 1,100
J.APEEH (2 WA HP SERM)
55,000& *10H 550
HAIR X 22 6,720 6,720 0
307 QI2t0| ™ 6,720 6,720 0
05 QI2tE = 6,720 6,720 0
1. 203U U= Z 250,000& 128 3,000
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2N

HE: F0 #HE MY T2(LHIS)
Sl FRIMESY CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o dio = HImEET
0 &
NP E )
130,000 * 10 A+ 123 1,560
3.5ANHINFAUB+42
180,000& 10 A+ 123 2,160
FOEAMA XIF3 oA 8,000 5,000 3,000
401 Al HI K 201 I 8,000 5,000 3,000
01 A& Hl 8,000 5,000 3,000
1.AYD] EYE) EXNE I8 LA E HIXI(
M) (? X=E39) 5,000,000& 5,000
2.80¢ O M2Ast)| EXE AXI(7 XNH3 Q)
1,500, 000& *2H 3,000
SAIJIBEAIE BHI(&218) 5,000 5,000 0
S AIJIBEAIE FEHI 5,000 5,000 0
AZS=2 ANEE FHI 5,000 5,000 0
401 AIEHI L 2 CHYI 5,000 5,000 0
01 A& HI 5,000 5,000 0
1.A=S AMESE R 5,000,000& =14 5,000
HY2IZH (MH1S) 871,253 886,328 A 15,075
el 2 762,323 778,778 A 16,455
ol 2| 762,323 778,778 A 16,455
101 124l 732,143 751,658 A 19,515
01 2= 732,143 751,658 A 19,515
(22) 526,582
1LHSH(Y) 82,125
.= 78,966,000& »1H 78,966
Lt ™ & I 78,966,000 *4% 3,159
2.2 3E(15Y) 444 457
Jr.e=(2188) 3,778,900 x3H x12& 136,041
Lh.72 (128 8) 2,830,900 3« 12& 101,913
Ct.82(588) 1,959,700 x3H x12& 70,550
et.9=2(3s8) 1,650,800 6P 12& 118,858
Ot. M <&l 427,362,000 *4% 17,095
(840 =€) 43,399
1.82=+% 444,457,000 *1/12 37,039
2. B2 ==EIHe =3 6,360
Jb.20E 0] & 110,000& »2H 128 2,640
Lt.156E 01 &~20= 012t 80,0003 »1H « 122 960
Ct. 10 01 &~15E8 012t 60,000& «3H 122 2,160
ct. 5@ 0l &~10 01 8t 50,0003 x1H =128 600
(OtAEd =) 4,800
1.5 4,800
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SA MRS
B #HSAPL (MH1S)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
Jb . Hi < X+ 40,000& x4H x12& 1,920
[ DNIE| 20,000 x1H x12& 240
Ct.2 M X4 60,000& *3H x12& 2,160
2t . IIEF JIS 20,000& x2H x12& 480
(S+224+9) 23,640
1.S+824y 23,640
h.s22+Y 70,000& x15H x12& 12,600
L. Ol aset 50,000& *3G x12& 1,800
CHAISI S X2 70,000 x8H x12& 6,720
et M EXNERFEOHAZ
30,000& x7H x12& 2,520
(Z222Y) 64,316
1A 2 RY
10,509& *34 Al 2tx15H x 128 64,316
(AlHl2a 5) 69,406
1. 83U Z A 130,000& x16H = 12& 24,960
2.9 &3 Jty| 444 457,000 *x1.2/12 44 446
204 & 2 £~ H H| 30,180 27,120 3,060
02 8z 8 X4 30,180 27,120 3,060
1. 828Xl 30,180
ot.52 250,000& x1H x12& 3,000
Ll.62 165,000& *3H x12& 5,940
Ct.72 155,000 *3H x 12& 5,580
ct.8~9= 145,000 x9Y »12& 15,660
Jl=23&tl 108,930 107,550 1,380
DR sl 108,930 107,550 1,380
201 LBt A H| 53,150 49,180 3,970
01 At 22l ] 20,146 20,146 0
(ger=249d|) 9,250
1. 2829 +8H| 300,000& *16H *80% 3,840
2.0BZER2AMNRESE 100,000& ~12& 1,200
B.UO0IMERIHEH/EE 200,000 *6LH x23] 2,400
4. FUSESEE2ENX 26,000 x 158 A 390
5.0 23HANLZEX 80,000& x10&f A 800
6.2MNESESINEY 100,000& *1CH*23] 200
7.00=0|el2/943 20,000& x1CH~6& 120
B.MEZSANHAME A2
25,000& = 12& 300
(d4x2) 1,080
1. 84J|YX2 30,000& *3CHx12& 1,080
(294+<) 600
1.9=a2g 60,0003 *1H x10 600
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WERE
HH2AAY (MA1S)
o=

SA BB O () - MM - HES 0l &+ o4 il
(== 9,216
1olgesssagay
000 *6A x16H x 128 9,216
02 =224l 33,004 29,034
(2322 < WAl 27,812
1.98=2 4,380
Jb. et 380& x10024«12& 456
= 2,180 *15021x12& 3,924
2.80l=2 1,500,000& x12& 18,000
.40t ER3 200,000& »12& 2,400
4. 832 250,000& * 13| 250
5.0l ++2 15,000& 23|« 12& 360
6. XS MSED] 6,000 x12& 72
7.SHEEAXHE 960
I ASUHEES 800,000 x1CH*13] 800
Lt. Xt = XEAl 100,000 *1CH*13] 100
G.E8JI8 A2 60,0002 x1CH*13] 60
8.XEZE=IAXEHE 1,390
FASAEE S 1,200,000 *1CH x 13l 1,200
L. Xt = XEAl 130,000 *1CH*13] 130
CEJIE A2 60,0003 x1CH*13] 60
(A2 & UK XIHl) 5,192
1. 8AH2 1,500, 000& 1,500
2.2 MNESD 100,000 = 1CH 100
3. AL SEHI 100, 000& = 1CH 100
4.2 50,000 »2CH 100
5,201 0lAAE RAE4H 33,0003 %43 132
6. AZAAMAIAE RAE4H 30,0008 128 360
7.sHEXE =2l 100, 000*1CH 33| 300
8.XFJE=EAXNEYE =2l 100,000*1CH *33] 300
9.s#HEXE FFHI 150,000& = 1CH 128 1,800
10. 222 (SEA) M3 AR
100,000& *53| 500
202 odl 42,300 42,300
01 = LH o4 1l 7,200 7,200
1. =AY 20,0003« 10 x3H 123 7,200
02 A0 35,100 35,100
=G 225,000& x13H »12& 35,100
203 R F=&H| 9,820 9,820
01 JI22L =8| 5,940 5,940
10|22 PR F8| 6,600,000& * 1= x90% 5,940
02 ZRIAHRE=XH| 640 640
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N = 0l & At & Ml A

20202 = =0l &k LB A JIEISEA DES ~ I3RS

SA: A0S
Mo FOMHBO TR (AHE)
Sl FRIMESY CERED
(o
SA BB (SH) - NRAY - B Ol At o %@i HRE2
AH2S 825,431 896,647 NT1,216
FOIHEEHOE R (MA2E) 133,880 94,480 39,400
FOMHEH2H 133,880 94,480 39,400
s .B& X 98,280 68,880 29,400
301 et A =2 98,280 68,880 29,400
0B SHE -0 -EHEESEMN= 98,280 68,880 29,400
1.&8&8s5 2 &3 98,280
toll2s¢ 300,000 *21H «12& 75,600
L. &= 300,000 *x21H »23| 12,600
Ch.3lo &8 20,000& 218 x23| 128 10,080
FOXXNAMHEZZOH 24 23,220 23,220 0
201 Bt 4d9H]| 23,220 23,220 0
01 AP 22| H| 23,220 23,220 0
(eta=24|) 1,620
1.F0AXHE =2 150,000 12 *90% 1,620
(2d+Y) 21,600
1. ZF0 XA 2 AFEE 21,600
JPAEXUHA(EZ) 25,000 *8AI2tx12€ 2,400
L} AZXHA(SZ) 25,0002 «8Al 2H+12€ 2,400
ChAZXHA(DZ) 25,0002 *8Al2t+122 2,400
ct. =28 |2 25,0002 «8A| 2tx12€ 2,400
OF . EFPWA(=2H) 25,0002 «8A| 2tx12& 2,400
Ht E-2 1WA (0F2H) 25,000 x8A| 2tx12& 2,400
Ab .28 Al 25,0002 «8A| 2tx12& 2,400
OF.CIHOIHHE A 25,000 «8Al 2tx12& 2,400
Aot A 25,0002 x8A| 2t 122 2,400
HALS X 22l 2,380 2,380 0
307 212t0| ™ 2,380 2,380 0
05 QIZ2t E 2 2,380 2,380 0
1. 20 F0 2l =2 180,000& ~12& 2,160
2.EHAEICHME A LSS
110, 000& * 1} A %23 220
FOIEH O A KIDSOAAS 10,000 0 10,000
405 XHAHF S HI 10,000 0 10,000
01 XA 2 ZF S| 10,000 0 10,000
1.01001 E3tel 2RRE AX (2 N3 o)
2,500,000 x4 4! 10,000
T AIDIBHAIA HH|(AHH2S) 5,000 5,000 0
SADIBAIE | 5,000 5,000 0
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2N
CEADIBEAIE FH(&A28)

el

X ZH
S =

AHA2S

S AIDIEHAIE EHI

SAH-EB .S (3H) - HEAY - BE2 ﬁlf& HD=2

AESS AMEZE FH| 5,000 5,000 0
401 Al HI L 20 HI 5,000 5,000 0
01 A& HI 5,000 5,000 0

1.4023 AlIE&2 g2 5,000,000& x 14 5,000
HAESH A (MA2S) 686,551 797,167 N 110,616
ol 2| 605,741 704,806 AN 99,065
ol 2A | 605,741 704,806 AN 99,065
101 @121 582,761 680,686 N97,925
01 2= 582,761 680,686 N97,925

(23) 416,900

1981 01g) 82,125

.s& 78,966,000 x1H 78,966

L. XS4 &bl 78,966, 000& *4% 3,159

2.28Z2¢ (1Y) 334,775

ot .62 (243 2) 3,932,700 x2H x12& 94,385

Lh.72(858) 2,477 ,4003 x3Y x12& 89,187

t.s2(8sE) 2,228, 100& x3Y x12& 80,212

ch.9=2(288) 1,614,300& x3¥ 122 58,115

OF. X S0 &I 321,899,000 *4% 12,876

(&0 4=¢) 33,418

1.824¢ 334,775,000& *x1/12 27,898

2. 8324t = 5,520

Jb.25E 0 & 130,000& *1H x12& 1,560

Lt.208 0] &~25E 012 110,000& x1H x12& 1,320

Ch.104 0] & ~154 0] 2t 60,000 x2H x12& 1,440

ct.5E 0] & ~10E 0] 2F 50,000& x2H x12& 1,200

(@IF:=RSEN= 17,240

1.5+ 4,800

Jb . B < Xt 40,000 *4H 122 1,920

L. JIEDES 20,000& x6H x12& 1,440

Ch.2MAH 60,000& x2H x12& 1,440

2. NESHIEX S 469,080& *2H 40| 3,753

3.25058 Y 723,910x1H = 12& 8,687

(Ex=222H) 15,840

1.Ex82Y 15,840

h.s22xY 70,0003 *11H 12 9,240

L DRy 50,0002 x3H x12& 1,800

CH A SRR 70,000& *4H x12& 3,360

ch MBS EXNERSEHAZ
30,000 x4H x12& 1,440
(ZU222Y S) 47,165
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SA A2E
X

M. HMSAAH (AH2S)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
EEEEEE
10,509& *34 Al 2tx 11« 128 47,165
(M-I EAS) 52,198
1. 3N ZAH| 130,000& 12 x12& 18,720
2. @& S JtH| 334,775,000 x1.2/12 33,478
204 = 2 4= A H| 22,980 24,120 A 1,140
02 &= & xH| 22,980 24,120 A 1,140
1. 832 X4 22,980
ot.52 250,000& x1H x12& 3,000
Lt.62 165,000& x2H ~12& 3,960
Ch.72 155,000& »3Y¥ x12& 5,580
ct.8~92 145,000 x6H 128 10,440
Jl2 &l 80,810 92,361 A 11,551
Jl2&Hl 80,810 92,361 A 11,551
201 et A | 37,690 39, 161 AN 1,471
01 At 22l ] 19,212 20,844 N 1,632
(der==24l) 10,260
1. 2NSH2=SH| 300,000& *12H *80% 2,880
2.0 Z2SUHAMEES 100,000& *12& 1,200
3.FUESES . 22X 26,000 x 158 A 390
402235 HLAZIEESEX 80,000& x108f A 800
5.0 dEZgE EH/=¥
200,000& *4CH x4 3] 3,200
6.2A EH/ZZHEHRE
200,000& *1CH *23] 400
7.HAD EY 100, 000& *2[H *23] 400
g§.01=)| 2lg/43a 20,000& 10 =123l 240
9.0IJA =HHUIIE S
750,000& 1L *13] 750
(d4x2) 1,440
1.3J/3 3D 30,000& =20 12& 720
2. 87| 30,000& =20+ 12& 720
(294+%) 600
1. 95856 60,000& x1H*10 600
(ZHl) 6,912
1|2 E22 44|
8,000& x6AI x12H x12& 6,912
02 3524l 18,478 18,317 161
(Z22YLHA) 12,516
1.2HSLSH 3,596
Jb. 8t 380 *1002d x12& 456
L. S9I 2,180& x12024 x12& 3,140
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SN aZ2E
BH: #HSAPL (AH2S)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
2.80|2 500,000& x12& 6,000
3. 4Gt 2 40,000& x12& 480
4 SHANL L2 (HAEXE) 50,000& *23| 100
58d3xd a5 120, 000& *13] 120
.= HAL-LE 200,000& *13] 200
7.0 dAHOIEYSESEE 30,000& x12& 360
B.HIEXNHEE = 1,500
b SH A Xt 500,000& *1CH *13] 500
Lt . HSEHESX XS 1,000,000& =1CH *13] 1,000
9. XS XHA 80,000 *2CH *13] 160
(HA24l) 1,728
1. AR A 1,350 x4 *4A| 2F%80L 1,728
(NEXHI &2 XH) 4,234
1.8AIHA 2 1,200, 000& 1,200
2. AT 100, 000& *2[H 200
3.0 50,000 =1CH 50
4 2OIEQIANAE RANE S
33,000& *2CH x4 3] 264
5. X2 AMAIAE X84
30,000& 10~ 12& 360
6. 22BN REH| 130,000& *12& 1,560
7.3 24| 100, 000& *2CH *33] 600
202 04 d| 31,500 36,900 A5,400
01 2L Y| 7,200 7,200 0
1.2l 20,000& 10 x3H x 128 7,200
02 EHN Y| 24,300 29,700 A5,400
1.2 ¥l 225,000 x9H x12& 24,300
203 & R =&H| 9,120 9,200 A 80
01 J|22HLRF=AH| 5,940 5,940 0
1.2 29 28| 6,600, 000& 1 x90% 5,940
02 HRJAE R =&Y 480 560 A 80
1. E3JIMAE 2 F R 40,000& x12Y 480
04 2SI L RF=AH| 2,700 2,700 0
1. 2N2ELERFAH| 250,000 * 122 *90% 2,700
204 = 2 4= A H| 1,800 1,800 0
01 MM S HREHAH| 1,800 1,800 0
1. AMIHRFEH| 1,800
. s 150,000& x 1 x12& 1,800
405 Ko SHI 700 5,300 A4 ,600
01 JHAHY = ZF = b 700 5,300 A4 ,600
1. A 350,000& =2CH 700
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HOZ ol & A 2 M A

o BN JIEISHEH DS ~ 2RS

(i}

20208 & 20

SN A2A3E
HE: F0 #HE MO T2 (LHIS)
el FOIME 29 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A AH3S 764,884 674,396 90,488
F0 MY EHo TR2(4AHA3S) 130,900 87,300 43,600
FoHH 29 130,900 87,300 43,600
=.Bt& K& 112,320 78,720 33,600
301 LPEAZF 112,320 78,720 33,600
05 8% -0 -tH¥ESE4S 112,320 78,720 33,600
1.8 +=gE3H| 112,320
FIlE=g 300,000& x24H «12& 86,400
L. &= 300,000& x24H +23| 14,400
Ch.3l o & A =g 20,0003 x24F «23|« 128 11,520
FOUMXNHMHEZOH 29I 5,880 5,880 0
201 €24l 5,880 5,880 0
01 At 22l 5,880 5,880 0
(Zer==gHl) 1,080
1.FE XX EEH2E 100,000& 122 *90% 1,080
(2g=4¢) 4,800
1.FUXX B2 A= 4,800
b oteua 25,0002 *8Al 2+ x 122 2,400
L. RJtwa 25,0003 *8Al 2t+128 2,400
EAtS R 2tel 2,700 2,700 0
307 21201 A 2,700 2,700 0
05 RIZt2IEt = 2,700 2,700 0
1.2o3d el 200,000& 122 2,400
= PNFSIDIRSIFSHN B= R
150,000& 1 £ %23] 300
FOEAMA XIH3 oA 10,000 0 10,000
401 AIEHI L 20HEI 10,000 0 10,000
01 A& HI 10,000 0 10,000
1380 HE orFEX Y EX(F N3 9
) 10,000,000& 10,000
SAIJIBEAIE BHI(&2H3S) 5,000 5,000 0
S AIDJIBEAIE FEHI 5,000 5,000 0
LAZ=2 ANEE FHI 5,000 5,000 0
401 A& HIZ 201 8] 5,000 5,000 0
01 A& HI 5,000 5,000 0
1.A=S ANESE R 5,000,000& =14 5,000
HYRFZH (MAHIS) 628,984 582,096 46,888
el 2 549,711 508,957 40,754
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SN AZHIE
B #HSAP (AH3S)
chel: ol gyl CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
eI =gl 549,711 508,957 40,754
101 212 8| 528,471 491,197 37,274
01 2=+ 528,471 491,197 37,274
(23) 387,584
LesSMOg) 82,125
.sE 78,966,000& * 1 78,966
Lt X <A 78,966,000 *4% 3,159
2. 22 ((109) 305,459
6227z E) 4,063,800 «2H »12& 97,532
L.72(8s8) 2,477,400 x3F x12& 89,187
Ct.8=(453) 1,871,400 x3F 128 67,371
2t.92(383) 1,650,800 »2H x 12 39,620
OF. X S0 & I 293,710,000& *4% 11,749
(A =g) 32,544
.32 =E 4,163,200& *4 . 1%+ 128 2,049
2.82=¢ 305,459,000%1/12& 25,455
.32 x=gmtt= 5,040
Jb.258 01 & 130,000& =2 12 3,120
L. 10801 &f~15E8 012t 60,0008 1 »12& 720
Ct.5E 0l & ~10= 0] 2t 50,0003 =2« 12& 1,200
OHAEd ) 4,560
1.5+ 4,560
Jb. B <Xt 40,0003 x3H x 12 1,440
L. JIE 20,0003 »4H 128 960
Ch. XA 20,0003 x1H 12 240
ct.=MAH 60,0003 x1H 128 720
OF. AU X+ 100,000& »1E «12& 1,200
(Ex224+Y) 13,200
1.85+=82+H 13,200
522+ 70,000 x10H x12& 8,400
L 2R 50,0003 x2F 128 1,200
Ch AR =SXER+g 70,0003 x3H x 12 2,520
ch AR SXYR+Eote =
30,0003 x3H x12E 1,080
(=22=¢) 42,877
LAt 2R+
10,509& *34 Al 2H+10H »12& 42,877
(AHl24 8) 47,706
1. 894241 130,000& 11H ~12& 17,160
2. 8E 50ty 305,459,000& 1.2/12 30,546
204 MR =HAH| 21,240 17,760 3,480
02 2g2xHl 21,240 17,760 3,480
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SN AZHIE
B #HSAP (AH3S)
chel: ol oyl (el:de)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
1.2 28 XH| 21,240
ot.52 250,000& x1H x12& 3,000
Lt.62 165,000& x2H x12& 3,960
Ch.72 155,000& *3¥ ~12& 5,580
ct.8~9= 145,000& x5 x12& 8,700
Jl=23tl 79,273 73,139 6,134
Jl23Hl 79,273 73,139 6,134
201 Bt A | 39,293 36,709 2,584
01 At 22l bl 19,826 19,010 816
(et424|) 12,170
1. 282984l 300,000& *11H *80% 2,640
2.0HZERANRES 100,000& ~12& 1,200
3.0 EH/EH 200, 0003 *4CH x53] 4,000
4ZpSES  22Y2EX
26,000 » 152 A 390
5.00AdzHNMEZIEELEN
80,000 »10 A 800
6.1l 20,000& 1~ 12& 240
7.9F8J|d3AEH 150,000& * 1 23] 300
8. HAEY 150, 000& *2[H *63] 1,800
9.2AIE X 20,000& *x408f A 800
(YX2) 720
1. 804X 2 30,000& =20 x12& 720
(2daY) 600
REE = 60,0002! 1% 10 600
(2zl) 6,336
1olzgesssag Ay
8,000& x6A/x11H x12& 6,336
02 352494l 19,467 17,699 1,768
(ZZ222LHA) 14,985
1.28Z 3,857
JF. LBt 380& *10021 x12& 456
L. S9I 2,180& *1302 x12& 3,401
2. 80|12 650,000& 128 7,800
.40t & 40,000& *12& 480
4.8 XH LS 150, 000& *13] 150
5.H012TV44 2 (2CH) 19,8002 x12& 238
6.3H A Xtef 2,460
I ANsSXHEE = 800,000& *2CH *13] 1,600
Lt. Xk = XHA 130,000& *2CH * 13| 260
Ch. A= x2=2l bl 100, 000& *2CH 33| 600
(A2dl) 1,458
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A & O & A B Ml M
20209 &= 20la LS JIEISEEH DES ~ ARS
SN A4S
B F0 ¥F MO CQ(MA4E)
Sl FUMESY (B9 ®R)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
& H4S 863,812 879,837 216,025
=0 #MH Ho ER(A2H4T) 145,698 109,398 36,300
FOHEH2E 145,698 109,398 36,300
s.8t8 X 98,280 68,880 29,400
301 LEIEN = 98,280 68,880 29,400
06 S8 -0 -t¥Es2d= 98,280 68,880 29,400
1.8¥+-g4235t 98,280
tol2==¢ 300,000& 21 ~12& 75,600
L& = 300,000& 21 »23] 12,600
Ch.alodag 20,0003 x21 %23| x 128 10,080
FURNXNEEH 2208 29 25,620 23,220 2,400
201 fEt2E | 25,620 23,220 2,400
01 At 2t 2l bl 25,620 23,220 2,400
(get=2Hl) 1,620
1.0 XM EH 2SI 150,000 «12& «90% 1,620
(29=¢) 24,000
.UMM 2 A =E 24,000
It A0 WA 25,0003 *8Al 2tx 128 2,400
Lb Xp A 25,0003 *8Al 2+ x 12 2,400
Ctoteua 25,0003 *8Al 2tx 12 2,400
oHZ2E 02X s=0lnA (=8
25,0003 *8Al 2tx12E 2,400
OHZE 0l2Xt st=0lna(S=8E)
25,0003 *8Al 2tx 128 2,400
Bt. <2l & 25,0003 *8Al 2+ x 12 2,400
Ab. 2t 25,0002 +8Al 2+ x 128 2,400
O . Zetel A 25,0003 *8Al 2t+ 128 2,400
A 2el et 25,0002 +8Al 2+ x 128 2,400
xS0l 25,0003 *8Al 2tx 128 2,400
EAs A 2el 11,798 17,298 25,500
307 glztol & 5,298 5,298 0
05 IR E = 5,298 5,298 0
.RoZd 2 ids=+=2 226,500 =122 2,718
2.BANEDE 2
210,000& » 1K & %23 420
.agEZAC U === 180,000& =12& 2,160
401 AIEBI L 2CHEI 6,500 12,000 25,500
01 A& dI 6,500 12,000 A5,500
1. 4 =SNUEH 222 WM SA
4,000,000 =14 4,000
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SN A4S
M =0l HN MO T2 (MA4S)
Sl FRIMESY CERED
4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
2. FOXNXAE stEA HI| WH Z2A
2,500,000 =14l 2,500
FOIE O A K DS2AS 10,000 0 10,000
201 gBt24y| 10,000 0 10,000
03 A2 G HI 10,000 0 10,000
1460245 stols 222 sS4 SH((R? XE3
9l) 10,000, 000OJ 10,000
T AIDIBHAI A HH|(AHH4S) 5,000 5,000 0]
T AIDIBHAIE & H| 5,000 5,000 0
L2235 AMNAESE H| 5,000 5,000 0
401 Al HI L £ 0HHI 5,000 5,000 0
01 Al& H| 5,000 5,000 0
1.082 A= gA22 5,000,000 =14l 5,000
SHM2AAH| (M2A4S) 713,114 765,439 NB2,325
olad 2 A Y| 625,398 675,297 A 49,899
oled A Y| 625,398 675,297 A 49,899
101 @1214| 602,418 652,677 A 50,259
01 = 602,418 652,677 A B0, 259
(23) 411,269
1.2/ (1Y) 82,125
b.s%& 78,966,000 x1H 78,966
Lt X <K& Hl 78,966,000 x4% 3,159
2.83¢ (1Y) 329, 144
.63 (238 =2) 3,884,200 x2% x12& 93,221
UH.73209se) 2,571,900 »32% x12& 92,589
t.sz24s=) 1,871,400 x4 «12& 89,828
.92 (452) 1,701,900 22 x12& 40,846
OF. X S JH & HI 316,484,000 *4% 12,660
(A4 33,669
1.82x% 329,144,000 «1/12 27,429
2.2 IIA 2 6,240
JF.25E 0] &b 130,000& »2H x12& 3,120
LH.20E 0| & ~25E 012 110,000 x 1 12 1,320
Ch.5E 0] &~104 D] ©F 50,000& *3¥ x12& 1,800
(JHAHEE=E) 42,240
1.5+ 6,240
JF. i 2 XH 40,000& x6H ~ 128 2,880
L. =T AHE (DI EFDFE L E)
20,0008 x8H x12& 1,920
Ch.2MAd 60,000& 22 x12& 1,440




2N
X ZH -
L= B

el

HE - B (3H) - KISAY - BYS il HImEET
2. 8052+ 1,500,000 x2H x12& 36,000
(E=22=+Y) 16,440
1.5t 16,440
.82 70,0003 x11H«128 9,240
Lt IR 50,0003 x2H =122 1,200
CH.At2I =X =g 70,0003 x5 128 4,200
et . At E X =PI
30,0003 x5 12 1,800
(=n=2224Y) 47,165
1A 22
10,5093 *34 Al 2tx11H 128 47,165
(A4 8) 51,635
1.8 U5 Al 130,000& =12 »12& 18,720
2. WEF Oty 329,144,000& %1.2/12 32,915
204 HR=HAH| 22,980 22,620 360
02 22 =4 22,980 22,620 360
1. 2882t 22,980
Jt.53 250,000 x1H <123 3,000
Lt.65 165,000& 2 128 3,960
tt.72 155,000& »3H «12& 5,580
ct.8~92 145,000 6 x12& 10,440
=3t 87,716 90, 142 A2,426
JlE2ztl 87,716 90, 142 A2,426
201 et 39,696 41,052 A 1,356
01 At 22l 17,468 18,584 A1,116
(ger=&dl) 9,236
1. 2A2E =2l 300,000& » 12X x80% 2,880
2.0HZHRARES 100,000& =122 1,200
3.ZEHENH 200,000& »4CH »33 2,400
4. 2T EHEY 200,000& = 1CH x40 23 1,600
5 MRAZSAMESIEYH 75,0003 «1CH *23] 150
6.0JAMIAMESIEY 75,000 *10H »23] 150
7.21&0|el= 23,0003« 10 =13l x12& 276
8.FRUSES L=2X 26,0002 x10% A 260
9.0 SHANLEES+=E X 80,0003 »42F A 320
(=) 720
1.8 =0l 30,0003 *2CH+12& 720
(2g=¢) 600
1.2 4 60,0003 x1&H 10 600
(=l) 6,912
12 2sdS25 4l
8,000 x6AIx12H 128 6,912
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2N A4S
X

BH: #HSAPY (M H4S)
& 123l CEE-ED
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
02 3524l 22,228 22,468 A 240
(ZZ22YLHA) 17,744
1.28Z 3,164
JF. gt 380& x12024 x12& 548
L. S9I 2,180& #1004 x12& 2,616
2.80|& 950,000& x12& 11,400
3. 40t = 200,000 x6& 1,200
4.8 XHALAE 200,000& *13] 200
5. 240885 bs 10,000& x12& 120
6.8 J| Xt & XS Xt Al 130,000& *1CHx13] 130
78I B E 2 1,000,000 =10 =13 1,000
8. & Xt & K= Xt Al 30,0002 *1CH*13] 30
9. HEXNHBE = 500,000& *1CH*13] 500
(A& =HISXIH) 4,484
1.3AIA 2 1,000,000& 1,000
2. HFH Y S EY| 100, 0002 *2CH 200
3.2 AT ST 100, 000& *2CH 200
4. 2OISQNABSK B A
33,000& *2CH x4 3] 264
5. N2 AAIABI R X2 4=H
30,000& *1CHx12& 360
6.HEXNSFHAME 60,000 *1CH*13] 60
7. X &2l 100, 000& *2CH 33| 600
8. HA XS FZHI 150,000 x1CH*12& 1,800
202 04| 31,800 34,500 N2,700
01 2LH O HI 4,800 4,800 0
1. =AY 20,0003 10 x2H x 122 4,800
02 EHNYI 27,000 29,700 A2,700
1.2 XY 225,000& *10¥ = 12& 27,000
203 R =&Y| 9,120 9,160 N40
01 J|22I PR =Y 5,940 5,940 0
1229 2F8Y| 6,600, 000& =1 x90% 5,940
02 dJAJAHE R =AY 480 520 A 40
1. E3JAMMERFAH| 40,000& =124 480
04 ENSIHRF=EY| 2,700 2,700 0
12N RFEY| 250,000& *12& *90% 2,700
204 X2 = A H| 1,800 1,800 0
01 Mg FY| 1,800 1,800 0
1. 8B ZHIRF=AY| 1,800
. s 150,000 x1H = 12& 1,800
405 XtabF S| 5,300 3,630 1,670
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= o
A & 0l & AF 2 E A A
20209 = 20la LB IIEISESH DEs ~ FRS
2N =E1S
M =0l #F MO TR(2E1S)
Sl FRIMESY CERED
= _ — d =
SN FHE - EA(SA) - MEAY - BES 0l &t o il Bl DE2
E81s 755,605 688,515 67,090
F0 MY Ho SR(SE1S) 91,436 84,936 6,500
FodEed 91,436 84,936 6.500
=.Bt& K& 70,200 49,200 21,000
301 LPEAZF 70,200 49,200 21,000
05 8% -0 -tH¥ESE4S 70,200 49,200 21,000
1.8 +=gE3H| 70,200
ol 300,000& *15H «x12& 54,000
L. &= 300,000& 15 #23| 9,000
Ch.3l o & A =g 20,0003 «15F «23|«12& 7,200
FOUXXEH 2208 29 10,896 10,896 0
201 €24l 10,896 10,896 0
01 At 22l 10,896 10,896 0
(Zer==gHl) 1,296
1.FE XX EEH2E 120,000& =122 *90% 1,296
(2g9+¢) 9,600
1.FUXX B2 A= 9,600
Jb. MOl WA (SH28H)  25,000% *8Al 2F+ 122 2,400
LA Olwal (8H28H) 25,0002 *8AI 2+ 12& 2,400
Ct.&lAWA 25,0003 *8Al 2+ =122 2,400
ct.ot2 LIt & 25,000 *8Al 2t x 128 2,400
AR 22 2,340 20,340 A 18,000
307 21201 A 2,340 2,340 0
05 RIZt2IE = 2,340 2,340 0
.20 el 170,000& =128 2,040
2HANFIIGHY B LS R
150, 000& 1 £ %23 300
FUEO A X H3 2 ALY 8,000 4,500 3,500
201 Let24d] 2,600 0 2,600
01 At 22l 2,600 0 2,600
(fer=dl) 200
1.012¢8 2uxsns 829 WE(F NG
2/2l) 50,000 *2H 100
2.012¢8 2uxNzns 23 AREE 2(
2 X3l 100, 000& * 14! 100
(2g+¢) 2,400
.24 X2 s LA (7 NP3 9
) 50,000 *8Al 2+ +x6& 2,400
206 = Hl 5,400 0 5,400
01 MHZ 8l 5,400 0 5,400
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2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
.24 FdxXEwa MWL (F XL )
15,0003 x 15 43| x6 & 5,400
SAIJIBEAIE BHI(S81S) 5,000 5,000 0
S AIJIEHAIE & HI 5,000 5,000 0
L22F ANEE FHI 5,000 5,000 0
401 AIEHI L 20 5,000 5,000 0
01 A& HI 5,000 5,000 0
1.ASS ANEE A2 5,000,000& =14l 5,000
HY2IZH (SEE1S) 659,169 598,579 60,590
ol 2d | 571,935 508,379 63,556
ol 2A Y| 571,935 508,379 63,556
101 1A bl 550,695 490,619 60,076
01 2= 550,695 490,619 60,076
(23) 400,565
1.¢98M01Y) 82,125
.= 78,966,000& x1H 78,966
Lt. ™ i & I 78,966,000 *4% 3,159
2. 2832 (10g) 318,440
.62(2458) 3,932,700 x2H x12& 94,385
.72 (1188) 2,747,300 x3H 123 98,903
Ct.8=2(828) 2,228,100 x2H x12& 53,475
2t.9=2(388) 1,650,800 »3H 123 59,429
Ot. ™M i &l 306, 192,000 *4% 12,248
(&0i==¢) 36,812
1RSSR+ 2,715
.e2UR(72165 )
3,127,300& *4 . 1%+ 1H 128 1,539
Lh.72U<*(8=21058)
2,390,000& *4. 1%*1H »12& 1,176
2. 824 318,440,000& *1/12 26,537
3.82==Eoet=s 7,560
Jb. 254 0] & 130,000& x3H x12& 4,680
Lt. 15501 &~20E9 012t 80,000& 1H 128 960
Ct.10E 01 & ~15= 012t 60,0003 »1H =122 720
ct.58 01 & ~104 0] 8¢ 50,0003 x2H 128 1,200
OHEd=g) 7,397
1.0t 5=¢ 5,520
Jb BH Xt 40,0003 x7H 128 3,360
Lt JIEFDLS 20,000 »4H » 128 960
CH. 2 W XA 20,0003 x2H «12& 480
ct.EMXH 60,0003 x 1 128 720
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2N
X ZH -
L= B

el

H . ool (30) - NIRAY - B il
2. 4EEHExe Y 469,080& x 1 x4D| 1,877
(E=22+Y) 14,040
1,582 14,040
t.s28Y 70,0003 x10H 128 8,400
Lt QAR R 50,000 x2H 128 1,200
AR SRS R+ 70,0003 x4H 128 3,360
ch A 2 XY RIS
30,000 x3H 128 1,080
(ZB2249) 42,877
IS EEES
10,509% *34 Al 2bx10B 123 42,877
(Aoled 5) 49,004
1.3 Wz Al 130,000 = 11H 128 17,160
2. Y E F I 318,440,000& *1.2/12 31,844
204 =2 43 A b 21,240
02 A2l 21,240
1. 2882t 21,240
ot.53 250,000 x 18 128 3,000
Lt.62 165,000 »2H «12& 3,960
tt.72 155,000& x3H 123 5,580
ct.8~9= 145,000& 5 128 8,700
=23l 87,234
JlE2ztl 87,234
201 L2l 45,904
01 At 22|l 18,461
(der2=&Hl) 10,805
1. 282384 300,000& * 11X x80% 2,640
2.0HZHRARES 100,000& »12& 1,200
3.20&80]el& 20,0002 »1CH+6 & 120
4.0137143 100, 000& 42| 400
5. ZelHEU 200,000& *4CH +33] 2,400
6.2 HEY 200,000& x63| 1,200
7.ALEENLESESEN 80,0003 68 A 480
8.FUSESET2L2EX  26,000& x12% A 312
9.BEMESIIEY 60,0002 *2CH =33l 360
10. = AL X 20,000 50 A 1,000
1M.IAOIEYS 4= 7,700& x12& 93
12.8JIsX U2 50,000& x12& 600
(gx=2) 720
1. 83D|8Exz 30,0003 *2CH*12& 720
(2g29) 600
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>
A & 0l & AF 2 E A A
20209 = 20la LB IIEISESH DEs ~ FRS
SN =E2s
Hu: FOMHBOCQ(SH2E)
Sl FRIMESY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E82s 1,046,224 999,018 47,206
FOUMIEYTR(SE25) 210,704 141,904 68,800
FUMHZY 210,704 141,904 68,800
= .BHE X 173,160 121,360 51,800
301 LPEAZF 173,160 121,360 51,800
05 8% -0 -tH¥ESE4S 173,160 121,360 51,800
1.88+=2¢E sl 173,160
ol 300,000& x37H «12& 133,200
L. &= 300,000& 37 +23| 22,200
Ch.3l o & A =g 20,0003 «37H «23|« 128 17,760
FOUNXMEZZ20SH 29I 18,096 18,096 0
201 €24l 18,096 18,096 0
01 At 22l 18,096 18,096 0
(Zer==gHl) 1,296
1.FE XX EEH2E 120,000& =122 *90% 1,296
(2g=4¢) 16,800
1.FUXX B2 A= 16,800
b AEXHA(E) 25,0002 *8Al 2+ x 122 2,400
Lh AZXHA(S) 25,0003 *8Al 2t+128 2,400
Ch.AZXHA(D) 25,0003 *8Al 2+ =122 2,400
et It A 25,000 *8Al 2t x 128 2,400
O JISH = 25,0003 *8Al 2t 128 2,400
HE.&t=0 4 25,0003 *x8Al 2t 128 2,400
AN IDNES 25,0003 x8Al 2+ 12 2,400
EANFX 22 9,448 2,448 7,000
307 Q12+0| & 2,448 2,448 0
05 DIt e 2 2,448 2,448 0
1.2o3H g2 185,000& = 12& 2,220
2EMEI U=
114,000& 10 2 *23] 228
401 Al HI L 2 T 7,000 0 7,000
01 A& HI 7,000 0 7,000
1.8 A HIIEHIZSA 7,000,000%14! 7,000
FOENOA XF3 oA 10,000 0 10,000
201 2et2 Y| 3,000 0 3,000
01 At 22l 3,000 0 3,000
(2g=¢) 0
1. 224y Z208 2H(F XNd39)
62,5003 *8BA| 2k*6 I & 3,000
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SN =Es
H: FOUHFEYTZ(Z2828)
Sl FUMESY (B9 ®R)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
401 AIEBI L 2CHEI 7,000 0 7,000
01 A& dl 7,000 0 7,000
TLEE(EX) 2X(F X938 9)
7,000, 000% 14 7,000
SADIBEAIE EHI (S828) 5,000 5,000 0
S AIJIBEAIE EHI 5,000 5,000 0
A2BSAESEH 5,000 5,000 0
401 AlE I R0 8] 5,000 5,000 0
01 Al&HI 5,000 5,000 0
1.423 NEE 2A2el 5,000, 000& 14 5,000
HY2HZH (2828) 830,520 852,114 N 21,594
el 2| 720,381 750,765 A30,384
el 2| 720,381 750,765 A 30,384
101 1244l 692,061 724,965 A 32,904
01 2= 692,061 724,965 A 32,904
(23) 489,406
1.e8H01Y) 82,125
hH.sE 78,966,0003 1 78,966
Lh. X S0 & I 78,966,000 *4% 3,159
2. 23 (14Y) 407,281
t.e2(2988) 4,131,100 28 »12& 99,147
L7285 8) 2,477,400 «4E «12& 118,916
tt.e=2(4s8) 1,871,400 x5H x 12 112,284
ct.9=2 (45 8) 1,701,900 »3& 128 61,269
OF. X S JH & i 391,616,000 *4% 15,665
(A =g) 42,258
132+ 2,077
58 UR (62325 S)
4,221,000 » 12 =4 1%x12& 2,077
2.832+¢ 407,281,000& *1/12 33,941
3.82ote = 6,240
Jb.25= 01 & 130,000& 2 122 3,120
L. 10801 &f~158 012t 60,0003 18 *12& 720
Ct.5E 0l & ~10= 0] 2t 50,0003 »4H 12 2,400
COHAEd =) 15,480
1.5+ 5,280
b =Xt 40,0002 x6H 123 2,880
LE.JIEHES 20,0003 x7H «12& 1,680
Ct. S M X 60,0003 x1Z 128 720
2. =505+ 850,000 x1H =12 10,200




S22
HESHAY| (2E2)
ol 2oyl o E)
M- BB (BH) - NEAY - BaS o A o il 2
(SE4222Y) 20,760
1.5x822Y 20,760
h.s224+Y 70,000& x14 x12& 11,760
L. OIS 50,000& *3¥ x12& 1,800
CHAISISEXgRE 70,000 x6H x12& 5,040
2t A SR YRS I3
30,000& x6H x12& 2,160
(ZB224Y) 60,028
INEEEES=
10,509& *34 Al 2tx14H x 12& 60,028
(AlHl24a 5) 64,129
1. 3N Z A 130,000& 15 x12& 23,400
2.9 E S 0tH| 407,281,000 x1.2/12 40,729
204 & 2 £~ HH| 28,320 25,800 2,520
02 238 x| 28,320 25,800 2,520
1.2 28 X4 28,320
.53 250,000& x1H x12& 3,000
Lt.62 165,000& =»2H x12& 3,960
Ct.72 155,000& x4H ~12& 7,440
ct.8~9= 145,000 »8 x12& 13,920
34l 110,139 101,349 8,790
=&l 110,139 101,349 8,790
201 Bt A | 46,819 45,379 1,440
01 At 22l bl 21,528 21,528 0
(eta=24|) 12,288
1. 282984 300,000& *15H *80% 3,600
2.0HZERANRES 100,000& ~12& 1,200
.0 AEZSHEH 150, 000& *6 3] 900
4. 40l EBHEH 200,000& *63| 1,200
5.00Ads8MESELEX 80,000& x158F A 1,200
6.FUSESZz2ENX 26,000 *308F A 780
7.21=0|222 20,000& x4 1 x6 & 480
g.ol=sJ|EeH/¥3a 96, 000& *33] 288
9.2ANEEIEY 80,000 »20H 18t A %x43] 640
10.SAJIEYH 260,000 x2CH x 18F A %23 1,040
11.2AMNEX 20,000 *308r A 600
12.8%0 dX&s 30,000& *1CH+x12& 360
(2g944) 600
1. 952856 60,000& x1H*10 600
(Z2Hdl) 8,640
10|28 E22 44|
8,000 x6Alx15H x 128 8,640
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02 Jg

o

828
H2I AU (2828)
=3t
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
.8 150,000 x 1H x12& 1,800
405 TtHabF S| 12,680
01 AL EFSHSHI 12,680
1.838 My 300,000& 187K 5,400
2. MR8 OlsNE 170,000& = 18K 3,060
3.212&8 Hol=s 320,000 =14 320
4.3198 KR 170,000 *8H 1,360
5. X2 EN 180,000 =34 540
6.IHEI & 200,000& =104 2,000
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>
A & 0l & AF 2 E A A
20209 = 20la LB IIEISESH DEs ~ FRS
2A: HESsS
Ha: =0l 8N MO CR(HES)
chelr FOME 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e s 1,088,465 1,044,048 44,417
F0 WY B SR2(UHES) 191,472 169,460 22,012
FoHH 29 191,472 169,460 22,012
= ,8t& X3 149,760 104,960 44,800
301 LPEAZF 149,760 104,960 44,800
05 8% -0 -tH¥ESE4S 149,760 104,960 44,800
1.88+=2¢E sl 149,760
ol 300,000& *32H x12& 115,200
L. &= 300,000& 32 *23| 19,200
Ch.3l o & A =g 20,0003 32 «23|« 128 15,360
FOUXXEH 2208 29 23,220 39,020 A 15,800
201 €24l 23,220 28,020 A 4,800
01 At 22l 23,220 28,020 A 4,800
(Zer==gHl) 1,620
1.FE XX EEH2E 150,000& 122 *90% 1,620
(2g9+¢) 21,600
1.:2UXEE ZAE 21,600
b HAAT S 25,0002 *8Al 2+ x 122 2,400
LH.O23tst=20 1 a 25,0003 «8Al 2tx 128 2,400
Ch.Jtw Al (18H) 25,0003 *8Al 2+ =122 2,400
ch. It Al (28) 25,000 *8Al 2t x 128 2,400
OH.GI2ULtRA(x=3)
25,000 *8Al 2t x 128 2,400
B2t R A(EZ)
25,0003 *8Al 2t+128 2,400
Ab. =801 S 25,0003 x8Al 2+ 12 2,400
Or.8=2n4 25,000 *8Al 2+ x 122 2,400
T HEZSEXE 25,0003 *8Al 2t 128 2,400
EANFX 22 8,492 20,480 A 11,988
101 @124l 6,272 5,560 712
04 JIZtHZ2Z2XNSE+ 6,272 5,560 712
(SEAMN Ha o82) 6,272
1.280 68,7202 /8Al 2Hx 1 x55A1 2H+ 1201 & 5,670
2ATHEE Z 5,670,000& *0.908% 52
3. UEEEE 5,670,000% *1.65% 94
4. =20AZEEE 5,670,000& *4.5% 256
5. 2RALEER 5,670,000 x3.23% 184
6.2 HIIRYEER 184,000& *8.51% 16
307 @120l & 2,220 2,220 0
05 RIZHRIE 3 2,220 2,220 0
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SA: HES
M Fo #E Mo TR(HES)
el FOME 29 (el @2)
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
1.Ro3y e+ 160,000& 12 1,920
EMEIIHE A ==2
150, 000& * 104 2 *23] 300
FOENHOA XF3 oA 10,000 5,000 5,000
201 L2l 10,000 5,000 5,000
03 &Ar2 I 10,000 0 10,000
1,802 HEd HEH(? XF39)
10,000, 000& * 14! 10,000
SAIJIBEAIE BHI(WES) 5,000 5,000 0
S AIDIBEAIE FHI 5,000 5,000 0
L2222 ANES 5,000 5,000 0
401 Al HI X SO 5,000 5,000 0
01 A& HI 5,000 5,000 0
1.ASS ANEE A2 5,000,000& » 14! 5,000
HY2FZH (S S) 891,993 869, 588 22,405
ol 2 gl 784,813 768,840 15,973
ol 2AH| 784,813 768,840 15,973
101 @14 Hl 754,633 741,720 12,913
01 2= 754,633 741,720 12,913
(2=2) 541,030
1.HEH0(Y) 82,125
t.s& 78,966,000& x1H 78,966
Lt. X< & ] 78,966,000 *4% 3,159
2.83g(15Y) 458,905
r.e=(271ss) 4,063,800 x3H «12& 146,297
Lh.72(988) 2,571,900& x3H 123 92,589
Ct.s=(5&=) 1,959,700 x6H x12& 141,099
et.92(4s8) 1,701,900 x3H x12& 61,269
Ot. ™M &l 441,254,000 *4% 17,651
(840 +¢) 47,356
13RI 2,033
52U (62298 S)
4,131, 1003 » 18 x4 1%+ 122 2,033
2. 324 458,905,000 *1/12 38,243
3.82==EoHe =3 7,080
Jb.25E9 01 & 130,000& »2H 128 3,120
Lt. 15501 &~20E 012t 110,000& 1H 128 1,320
Lt.10E 0l &~15 012t 60,000 x2H » 128 1,440
Ct.5 01 &~104 0] 8¢ 50,0003 x2H 128 1,200
(HAREE) 7,200
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2N s
M. MSAHH(HES)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
1.5+ 7,200
OF Ui Xt 40,0002 x8H x12& 3,840
LF.JIENHIS 20,000 x8H x12& 1,920
Ch.2MAH 60,000& x2H x12& 1,440
(E4222Y) 23,880
1.5822Y 23,880
h.s22+Y 70,0003 x16H x12& 13,440
L DRgsd 50,000& x4H x12& 2,400
CHAISI S X2 70,000 x7H x12& 5,880
et M EXNERFEOHAZ
30,000 x6H x12& 2,160
(zB224+9) 64,316
IR
10,509& *34 Al 2tx15H x 128 64,316
(AHea E) 70,851
1.3 M ZAH| 130,000& x16H = 12& 24,960
2.9 E S 0ty| 458,905,000 x1.2/12 45,891
204 & 2 £~ H H| 30,180 27,120 3,060
02 8z 8 X4 30,180 27,120 3,060
1.2 322 X4 30,180
ot.52 250,000& x1H x12& 3,000
Ll.62 165,000& »3¥ x12& 5,940
Ct.72 155,000 *3H »12& 5,580
ct.8~9= 145,000& x9H 128 15,660
Jl=23&tl 107,180 100,748 6,432
DR sl 107,180 100,748 6,432
201 L2 | 45,760 45,478 282
01 At 22l ] 21,640 21,640 0
(Let==2d|) 11,104
1. 2829 +8H| 300,000& *16H *80% 3,840
2.0HZ2ERANRESE 100,000& ~12& 1,200
.40l dEH/EH 200,000& *50H x23] 2,000
4.Z2HEEH EY 200,000& x1CH x43] 800
5. HMAEYH 88,000 20l 43| 704
6.FUSES , Z2L2EX 26,0002 x208F A 520
7.0UdSENNEZSELEX 80,000 »158F A 1,200
g.ol&J|el&2 20,000& 10~ 12& 240
9.01=J|UA (£, HM) 25,000& *2JH 23] 100
10. =S AFE X 20,0003 *255 A 500
(LX) 720
1. 840 Xz 30,000 =12& =2CH 720

_57_




2N
X ZH -
L= B

el

M- BB S9(3H) - NSAY - BAS il
(2d4Y) 600
lYsRLsy 60,0002 %12 %102 600
(22l) 9,216
1olggesssag Ay
8,000& x6AI x16H x12& 9,216
02 53294l 24,120 23,838 282
(B222 ¢ HMA) 18,986
1.2#H2 5,816
Jb. Bt 380& *30021 x12& 1,368
L. S9I 2,180& x17024 x12& 4,448
2.8IIAME S 830,000& x12& 9,960
.G AIEE 80,000& x12& 960
4. SENEESZ2(HEXNSFE) 50,0003 23] 100
b R8s 10,000 x12& 120
6. U1HESE= 1,630
o HA X 500,000& x1CH*13] 500
Lt.OI & Xt 130,000& *1CH *x 13 130
Ct.ASEH=X RS 1,000,000& =1CH =13 1,000
7. XIS XA 160
I H A Xt 30,000 =1CH*13] 30
Lt . HSHEX XS 130,000& *1CH*x13] 130
B.AHEI M= 120, 000& *2CH x 13 240
(AIE & HI S XI]) 5,134
1.8AIH S 1,500,000& 1,500
2.2 AE S| 180, 000& =2[H 360
3.2 D] 45,000 «2CH 90
4 2OIEQIAIAE KX E 4=H
33,000& *2CH x4 3] 264
5. X2 AAIAE ST 240 (2EH)
30,000& 10~ 12& 360
6. XA ZHI 1,560
Il HE XY RFH 130,000& = 1CH x12& 1,560
7. Xt &2l Hl 100,000 & *2CH 33l 600
8. EASEA A GI=& QA3 AHIE
200, 0003 13| *2JH A~ 400
202 04| 42,300 42,300 0
01 2L I 7,200 7,200 0
1.2l 20,000& 10 x3H x 128 7,200
02 24| 35,100 35,100 0
1.2 ¥ 225,000& *13H «12& 35,100
203 & R =&t 9,820 9,820 0
01 J 22 AR =AY 5,940 5,940 0
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N & 0l & At

H O

Al A

= o
2020 & =20 A LBHS|H L IIEIEEEH DES ~ 2RSS
2N HHS
Ha: =0l #F MO TR (AUE)
Sl FRIMESY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
a28=s 736,991 662,129 74,862
FO MHA BO E2(AHSZ) 89,064 60,764 28,300
FOMHEH2H 89,064 60,764 28,300
s . BHEXR 74,880 52,480 22,400
301 et A =2 74,880 52,480 22,400
0B SHE -0 -EHEESEMN= 74,880 52,480 22,400
1.E34+g ¥ 2SH 74,880
b olesg 300,000 x16H x12& 57,600
L. &= 300,000 x16H *23| 9,600
Ch.3lo &8 20,000& x16Y 23| x12& 7,680
FOXXNAMHEZZOH 24 5,880 5,880 0
201 Bt 4d9H]| 5,880 5,880 0
01 AP 22| H| 5,880 5,880 0
(eta=24|) 1,080
1.FXNXHE2E | 100,000 12 *90% 1,080
(2d+Y) 4,800
1.ZF0XNXAE ZAIE=E 4,800
b @Itw Al 25,0003 «8A| 2tx12& 2,400
LE. ctQlch A Al 25,0003 *8A| 2tx12& 2,400
HALS X 22l 2,404 2,404 0
307 QI2t0| & 2,404 2,404 0
05 QIZtREZ 2,404 2,404 0
1. 20 A3 2|2 182,000 »12& 2,184
2.EANEI|OE Al =2
110, 000& =1} A %23 220
FOIE A AIDS A 5,900 0 5,900
201 gBt24Ay| 5,000 0 5,000
01 AF 22| H| 5,000 0 5,000
(LBt=2H|) 5,000
1.250] g2 &X(F XNd359)
125,000 =404 5,000
401 AlEHIZL £ 0HY| 500 0 500
01 Al&H| 500 0 500
1. 2208 BHAIE & X (7 K¥39)
500,000 =14 500
405 XHAHF S HI 400 0 400
01 AL 2 EF S| 400 0 400
10088 & &l 9X EX(F XY¥39)
200,000 =24 400

_60_




SN ACS

2es
HE: TADIBAIE FHHI(FSS)

Sl TAIDIBHAIE FHI (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
SADIBEAIE EH(FES) 5,000 5,000 0
SADIBEAIE FH 5,000 5,000 0
A2 ANE=S EH 5,000 5,000 0
401 AlEHIZ R0 8] 5,000 5,000 0
01 Al&HI 5,000 5,000 0
1.423 NEE 2A2e 5,000, 000% 14 5,000
HY2HIH(BES) 642,927 596,365 46,562
el 2| 566,198 524,184 42,014
g =gl 566,198 524,184 42,014
101 1244l 544,958 506,424 38,534
01 2= 544,958 506,424 38,534
(23) 397,713
1.esSH0Y) 82,125
h.sE 78,966,0003 1 78,966
Lt X S0 & i 78,966,000 *4% 3,159
2. 232 (109) 315,588
t.e2(2858) 4,098,500 «2H ~12& 98,364
.72 (11ss) 2,747,300 x3E x12& 98,903
tt.e=24s8) 1,871,400& x2F x 128 44,914
ct.9=2 (48 8) 1,701,900 x3H « 12 61,269
OF. X S JH & i 303,450,000 *4% 12,138
(A=) 34,692
132 2,033
528 UR (622095 )
4,131, 1003 » 12 *4 1%x123 2,033
2.832+¢ 315,588,000 *1/12 26,299
3.32xgmtt= 6,360
Jb.254 01 & 130,000& 2 122 3,120
L. 10801 &f~15E 012t 60,0008 28 *12& 1,440
Ct.5E 0l &~10= 0] 2t 50,0003 x3H x12& 1,800
OHAEd ) 6,917
1.5+ 5,040
Jb. B Xt 40,0003 x5H x 12 2,400
LEJIEDES (R E 2 &)
20,0003 x5 123 1,200
Ch.2 M XA 60,0008 x2H x 12 1,440
2. XHEH Ex¢ 1,877
Jl.NsSstd 469,080& 1 *47| 1,877
(Ex=22=¢) 14,040
1.5=22+¢ 14,040
h.s22=+¢ 70,000 x10H 128 8,400
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SN Pes
B AR (ADS)
@2 Jl2&tl (e &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
Jf. &gt 380& *10024 x12& 456
L. S9I 2,180 x95214 x12& 2,486
2.80|& 450,000& 128 5,400
.40t 23 250,000& x12& 3,000
4. SAINARZ 250,000*12& 3,000
5.HSALY ByeHE
100,000& 1) 2~ *13] 100
6.834xH A2 70,0003 *14] 70
7. SHEXE 2,150
I ASAEES (HHE )
550,000& *1CH*13] 550
L. ASAHEES(XSEEXRE)
1,000,000 x1CH =13l 1,000
Ch. g3 edga 100, 000& = 1CH *x23] 200
ct. At S XHA 100, 000& *2CH * 13| 200
SR = N 100, 000& = 1CH *x23] 200
(42Hl) 285
1. A2 A 950& *300L 285
(AIE = HI S XIH]) 4,224
1. 3MAS R L] 700,000& 700
2. SsHAXNRESHI 150,000 x1CH=12& 1,800
.= A XS 42ld| 100, 000& *2CH 33| 600
4 . MAEH A2l ] 100,000& *5CH 13| 500
5. 20 E0IA|AE R X2 4=H
33,000& *2CH *4 3] 264
6. KNS QAAIAEI RS X E 4=H 30,000& x12& 360
202 (4] 29,100 26,400 2,700
01 =2LHOHI 4,800 4,800 0
1.2Wo 20,000& 10 x2H x 128 4,800
02 EHN Y| 24,300 21,600 2,700
1. 2NN YI 225,000& x9H x12& 24,300
203 &R =&H| 9,080 8,230 850
01 J|22H L RF=AH| 5,940 5,940 0
10|22 R =48] 6,600, 000& * 1 x90% 5,940
02 HRJAHE R =&Y 440 400 40
1. 33N RF Y| 40,0002 =114 440
04 EANSHLRF=AH| 2,700 1,890 810
1. 2N2EYERFAH] 250,000& =122 *90% 2,700
204 &2 = A H| 1,800 1,800 0
01 MM ZHR-HAY| 1,800 1,800 0
1. AMZHRFEY| 1,800
. s& 150,000& *1H x12& 1,800
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N = 0l & At & Ml A

20209 = 20la LB IIEISESH DEs ~ FRS
AN SHXIOS
M 30 #E MO TQ(REEO0E)
Sl FRIMESY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SPHEOIS 1,366,598 1,165,977 200,621
0 Y HO T R(RENZT0FS) 259,648 177,928 81,720
FUMHZY 259,648 177,928 81,720
SHEIA 205,920 137,760 68, 160
301 LPEAZF 205,920 137,760 68, 160
05 8% -0 -tH¥ESE4S 205,920 137,760 68, 160
1.88+=2¢E sl 205,920
FIlE=g 300,000 x44H «12& 158,400
L. &= 300,000& *x44H +23| 26,400
Ch.3lo =% 20,0003 «44F «23| « 128 21,120
FURMXNAMEEZ2IH2 S 32,480 23,220 9,260
201 €24l 25,620 23,220 2,400
01 At 22l 25,620 23,220 2,400
(Zer==gHl) 1,620
1.FE XX EEH2E 150,000& 122 *90% 1,620
(2g=4¢) 24,000
1. LA 24,000
Jt.&tE M 0ll 25,0002 *8Al 2+ x 122 2,400
Lot uwa 25,0003 *8Al 2t+128 2,400
CHAZXHA 25,0003 *8Al 2+ =122 2,400
ct.2ItwA 25,000 *8Al 2t x 128 2,400
O JISH = 25,0003 *8Al 2t 128 2,400
.8t =201 na(=32) 25,0002 *8AI2Hx12& 2,400
AL BF2HRA(E2) 25,0002 *8AI2t«122 2,400
OL. =018 3t 25,000 *8Al 2t x 122 2,400
A.eotelttna 25,0003 *8Al 2+ x 12 2,400
22w 25,000 *8Al 2+ x 122 2,400
405 RHoHE S HI 6,860 0 6,860
01 AL EZFH S 6,860 0 6,860
1.:0AXMEH 220388 8Tt
250,000& 204 5,000
2. FUNXMEH T2 H0lA oL
31,0002 604 1,860
AKX 22 11,248 11,948 A 700
307 glz2tol & 9,048 6,648 2,400
05 RIZHRI & 3 9,048 6,648 2,400
1.eoZyaeliidss2
180,000& 3 A+ 12& 6,480
= PAFSIIReIFSHN B= R
120,000& *3H £ %23 720
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AN SHXIOS
M 30 #E MO TQ(REEO0E)
Sl FRIMESY CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NI P -]
154,000& * 10 2 123 1,848
401 Al HIZ 201 I 2,200 3,600 A 1,400
01 A& HI 2,200 3,600 A 1,400
1.2S283 A HREEESA
2,200,000& » 14! 2,200
FUEAHM A XD o A 10,000 5,000 5,000
401 AIEHI L 201 10,000 0 10,000
01 A& Hl 10,000 0 10,000
TLAMZOINMMEL X (7 XS Q)
5,000,000& x 14! 5,000
2.Z0FSFUAHANTAEI (R XD 9)
5,000,000& =14 5,000
SAIJIBAIE BHI(REHEO0FS) 5,000 5,000 0
S AIDJIBEAIE I 5,000 5,000 0
AZ==2 ANEE FHI 5,000 5,000 0
401 Al HIZ 201 8] 5,000 5,000 0
01 A& HI 5,000 5,000 0
1.A=S ANESE A2 5,000,000& =14 5,000
HE2LAZH (PHEZO0IS) 1,101,950 983,049 118,901
el 2 968,002 871,681 96,321
ol 2| 968,002 871,681 96,321
101 @124 dl 934,102 842,881 91,221
01 2= 934,102 842,881 91,221
(22) 667,467
1.HSHO(Y) 82,125
.= 78,966,000& x1H 78,966
Lt. ™ & I 78,966,000 *4% 3,159
2.2 3E(18Y) 585,342
6= (245 8) 3,932,700 x3H x12& 141,578
Lh.72 (188 8) 3,256, 1002 *5H «12& 195,366
Ct.82(588) 1,959,700 x7H x12& 164,615
ct.924ss) 1,701,900 «3¥ «12& 61,269
Ot. ™d <&l 562,828,000 *4% 22,514
(M40 =¢) 69,601
1.82=+E 585,342,000 *1/12 48,779
2. B 2==EIHe =3 15,120
Jb.25E 0] & 130,000& x4 122 6,240
Lt.205 0l &~25E 012t 110,000 0 128 0
Ct.15E 01 &~20= 012t 80,000 x1H » 122 960
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2AM: REXO0IS
H: HMSAAH (BEHE0IS)
chel: ol gyl CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
ct. 104 0l &t ~154 0] 2+ 60,000& *x1H x12& 720
0F .54 0l & ~104 0] B¢ 50,000x 12 ~12& 7,200
J.URsFA+Y 5,702
b 53UR (632958 2)
4,131,100 *4 . 1%*x1H »12& 2,033
L6 U R(732952)
3,760,700& x4 1%*1H x12& 1,851
Lh.6sUR(7T327152)
3,695,000& x4 . 1%*1H x12& 1,818
(JHHEE =) 5,760
1.5 5,760
It B < Xt 40,000 x7H +x12& 3,360
LE.JIEHIS 20,000 *4H x12& 960
Ct.=2 M X4 60,000& x2H x12& 1,440
ch. OFAF 2 (A XFLE O &)
100,000 & x0H x12& 0
(Ex=22xY) 25,920
1S322 25,920
h.s22xY 70,0003 x18H x12& 15,120
L O 50,000& x4H x12& 2,400
CH A ESXgR2 70,000& x7H x12& 5,880
MBS EXNYEREOHAZ
30,000& x7H x12& 2,520
(=n224+4) 77,179
1A E2RY
10,509& *34 Al 2tx18H x12& 77,179
(AHIE2A S) 88,175
1. 83U Z A 130,000& *19H = 12& 29,640
2.9 &5 0Hy| 585,342,000 x1.2/12 58,535
204 &R = A H| 33,900 28,800 5,100
02 &= E x4 33,900 28,800 5,100
1. 822Xl 33,900
.53 250,000& x1H = 12& 3,000
Lt.62 165,000& *3H »12& 5,940
Ch.72 155,000& x5 x12& 9,300
ct.8~9= 145,000 x9Y »12& 15,660
| =&l 133,948 111,368 22,580
&l 133,948 111,368 22,580
201 LEr2 Y| 62,058 55,308 6,750
01 AFR2t2ldl 32,264 26,654 5,610
(eteddl) 18,920
1. 28289 +8H| 300, 000& *19H *80% 4,560
2.0BIZ2ER2AMNEES 100,000& = 12& 1,200
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2AM: PHE0S
= HER2IIAU(RPHZOS)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
. EEHEU/EE(EAXEE)
200,000& = 10CH 43 8,000
4.01380|el2 20,0003 x33| x12& 720
5.FpsEsxz==2EX 26,0003 20 A 520
6.Q0LESHANLSEN 81,000 20 A 1,620
7.5 AE X 20,0003 70 A 1,400
8.2AMSIIEY 150,000 *53] 750
9. EMIEH(Z0IE ) 150,000& 12/ 150
(dxrz) 1,800
1.8 =] 30,0003 «5CH+128 1,800
(2g=¢) 600
.28 4 60,000& x1H »102 600
(=&l) 10,944
112828 E224H]
8,000& «6AIx19H « 128 10,944
02 =224l 29,794 28,654 1,140
(82223 % HMA) 24,016
1.28= 7,157
Jb. et 380& 25024« 12& 1,140
Lh. Sl 2,180 23021 128 6,017
2.MIE(2AEE) 1,100,000& »12& 13,200
dot+=ER23 200,000 x6 & 1,200
4. 23N ERL S (HE )
60,0003 »1CH *23] 120
53stxdLxr2 70,0003 1 2 *13] 70
6.HIXNSEEERE 350,000& x1CH*13 350
7EENE (MO EEE
1,000,000 = 1CH *13] 1,000
8.0IEXEER 80,000& x1CH*13] 80
9.BMIMEES 26,1403 x123] 314
10. HE Xt XS XA 30,0003 +1CH*13 30
M (™IIX) RS XA
130,000 1CH x 13l 130
12.H#ENHEEHISMTT=
70,0003 +2CH* 13 140
1B.748s 4= 7,700& x123] 93
. REEE SN (ED) 11,000& =123/ 132
(NEZHI 2 Xidl) 5,778
1.EAMNAdESRAE = 800,000 800
2. HFL ST 50,000 »2CH 100
3.4EXE FFU 150,000& = 1CH 12 1,800
4.01EX2A £ RFTU 30,0008 +10Hx12& 360
5. 83X =cltl 100,000 »2CH 33| 600
6.2 ==J 7 Xl 2¢cltl 50,0003 +3CH 150
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>
A & 0l & AF 2 E A A
20209 = 20la LB IIEISESH DEs ~ FRS
FN: 22S
MY ZOI#H MR (MES)
el EOIME 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
H4=2S 1,558,715 1,378,906 179,809
U HOAT D (22 S) 325,550 241,120 84,430
FoHH 29 325,550 241,120 84,430
sHE & 271,440 190,240 81,200
301 LPEAZF 271,440 190,240 81,200
05 8% -0 -tH¥ESE4S 271,440 190,240 81,200
1.88+8 € &3l 271,440
ol 300,000 x58H «12& 208,800
L. &= 300, 0003 58 #23| 34,800
Ch.3l o & A =g 20,0003 «58H «23|«12& 27,840
FOUXXEH 2208 29 36,970 43,740 NB,770
201 €24l 35,070 21,820 13,250
01 At 22l 35,070 21,820 13,250
(get+=&dl) 11,070
1.FE XX EEH2E 150,000& 122 *90% 1,620
2.8 LH 3 10,0002 » 1004 1,000
3.3, 8+ 120,000& 204 2,400
4.23tellt 100,000& * 104 1,000
50.LEI= S 3,050
HER 160,000& 104 1,600
L. = 145,000& =104 1,450
6.ANES 100,000& 204 2,000
(2e+¢) 24,000
1.:UNXEE ZAE 24,000
b AT XHA(A) 25,0003 *x8Al 2t 128 2,400
Lt.St2 L3t 25,0003 *8Al 2+ x 12 2,400
Ch. 28013 25,000 *8Al 2+ x 122 2,400
ct.E==0l 25,0003 *8Al 2+ x 12 2,400
Ot A 25,0003 *8Al 2+ x 122 2,400
B ETSES-IE=5/5mP
25,0002 *8Al 2+ =128 2,400
AL B =0l 25,000 *8Al 2t x 128 2,400
Ot.@3telttw 4l 25,0003 *8Al 2t+12& 2,400
At HEtD A 25,0003 *x8Al 2t 128 2,400
Xt A Ol m A 25,0003 x8Al 2+ 12 2,400
405 XHobF S HI 1,900 920 980
01 AL ESFH S 1,900 920 980
[B=A=3-10) 1,900, 000& * 1K 1,900
AR 22 7,140 7,140 0
307 glz2+ol & 7,140 7,140 0
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SA nEe
X XH - [u]
(== B —

=
=
ol -
Cte: =0l

(o
SA BB (SH) - NRAY - B Ol &F o4 %@i 2t
05 QIZ2tR E 2 7,140 7,140 0
1.2OIZUIH® 4T 1800008 %304 A 122 6,480
2B AE DI E ) 3
110, 000& *3H A %23] 660
FOIE A X939 AIY 10,000 0 10,000
401 AlEHIZL 2 0HY| 10,000 0 10,000
01 Al& H| 10,000 0 10,000
NEHS g JIRI(F XNES Q)
10,000,000 « 1Al 10,000
T AIJIBIAIE EHH(Z2S) 5,000 5,000 0
S AID|BEAIE A H| 5,000 5,000 0
2325 AMAEE | 5,000 5,000 0
AEH L 200 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1. 0832 AMNAESE SAH 5,000,000 =14l 5,000
HELSAAH (BES) 1,228,165 1,132,786 95,379
ol 2HH| 1,082,258 997,223 85,035
ol =AY 1,082,258 997,223 85,035
101 @124 H] 1,041,278 962,243 79,035
01 2 1,041,278 962,243 79,035
(23) 739,775
1.92H (1Y) 82,125
. s 78,966,000 x1H 78,966
LE. XS0 & HI 78,966, 0003 *x4% 3,159
2.2 3E(219) 657,650
.62 (2382) 3,884,200 x4 x12& 186,442
u.7212s=2) 2,830,900 x5 x12& 169,854
th.s2(6=2=) 2,050,200 x84 x 12 196,820
2t.9=2(3s=) 1,650,800 x4 «12& 79,239
0. H L0 &I 632,355,000 *4% 25,295
(At 4=g) 69,589
1.UHRSRISY 161,000 »2 x12& 3,864
2. 824 657,650,000 «1/12 54,805
3.2 IIA 2 10,920
JF.25E 0] &k 130, 000& »2H x12& 3,120
LE.208 0| &~25E 012 110,000 »2H «12€ 2,640
Ch.10 0| &b ~154 0| 2F 60,0008 3% x12& 2,160
2.5 0] & ~10E 0] 8+ 50,000& x5 «12& 3,000
(JHHEE ) 12,147
1.5 8,400
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SN B2S
B #NLARY (BLS)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
It B < Xt 40,0003 x8H x 128 3,840
LEJIEFDES (M AE 28
20,000 x13H =123 3,120
Ct.2M X4 60,000 x2H 128 1,440
2. NS = 3,747
Jb.nsstd 468,300& x2E *47| 3,747
(E=22=+4) 31,200
1.5=X2+8 31,200
=82+ 30,0003 x1H «12& 360
Lh.s2f=+¢ 70,0003 x21H x12& 17,640
G.oAgese 50,0003 x6H 128 3,600
et Al =g 70,000 x8H » 128 6,720
O A S X E RIS
30,000 x8H » 122 2,880
(ZB2242 S) 90,042
I EERN
10,5093 *34A| 2t+21H 128 90,042
(AMHIB&S) 98,525
1.8 g Al 130,000& 21 «12& 32,760
2. BEF Oty 657,650,000& *1.2/12 65,765
204 AR A H| 40,980
02 a2 =4 40,980
1. 422t 40,980
Jt.5a 250,000& x 18 128 3,000
Lt.62 165,000 4 H «12& 7,920
ot.72 155,000& 4 128 7,440
ct.8~92 145,000& 13« 12& 22,620
=3l 145,907
JlE2&l 145,907
201 L4l 67,807
01 At 2+2/H 34,832
(dBr2=EHl) 18,440
1. 24A2E =2l 300,000& 22X x80% 5,280
2.0IHI 2L RARES  100,000& *1H A +123 1,200
3.ZgHd EUW/E™ 200,000& +7CH *43] 5,600
4,057 2= 15,0002 3 x12& 540
5.0187 &3 Ed 120,000 »30 23] 720
6.FUSES==EX 26,0002 20 A 520
7.0 HEZEX 80,0003 » 15 A 1,200
8. =ALEX 20,000 50 A 1,000
9.2A8ET EY 80,0003 +3CH +33] 720
10.= A EUH 120,000 = 1CH 43| 480




SN B2S
B #NLARY (BLS)
& 123l (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
1THESIAHEAME S22
75,0003 *43| 300
2.8 g® M 880,000& x13] 880
(dxrz) 3,120
.89 soils2XLEH SHEH SN2
300,000& 22 600
2. 80|t E 30,000 =40 122 1,440
3.2JIEEI X 30,000& 30 12 1,080
(2g=¢) 600
1.2 4 60,0003 x1H »10 600
(SHl) 12,672
1oz esssag A
8,000 «6A!I x22H « 123 12,672
02 =224l 32,975 32,747 228
(SS23LHA) 23,993
1.2 6,053
Jb. et 380 +1804 x12& 821
Lh. Sl 2,180& 20021 x12& 5,232
2.8JIe3(242E) 850,000& =128 10,200
G ERB(EALAEE) 150,000& =128 1,800
4. 83X HLE 80,000& *13] 80
5. 583X 1,940
FASAEE S 750,000& » 13| »2CH 1,500
L. EE3IHERES 65,000& »23] 130
Ch. X+ =S XHAl 100, 000& 12| «2CH 200
. I A2 55,000 12 »2H 110
6. X MHEZH b 320,000& x13] 320
7.2324 Lot 300,000& =128 3,600
(elzdl) 1,200
1LAIRA (SR 200,000 62 1,200
(NEEHI S XH) 7,782
1.8MAS 850,000& 850
2. LS| 200,000& = 1CH 200
3.2AAE SO 100, 000 »3CH 300
4.8 &S 30,000& 12 360
5. s¥8EXY 7FHI 200,000 =1CH+12& 2,400
6.sHAXE MIISXMHl 50,0002 *1CH+12& 600
7. SHEXE w=cldl 100,000 »2CH 33| 600
8. 20 ®X&eltl 100,000 =6 CH 600
9.2 EOIAIAE RAIEHI
33,000 +6CH x4 3 792
10.XIEAAIAE |2 2H
30,000 =30 122 1,080
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SN B2S
B #NLARY (BLS)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
202 (4] 57,600 54,900 2,700
01 2L Y] 14,400 14,400 0
1.2l 20,000& 10 x6H x12& 14,400
02 MY 43,200 40,500 2,700
1.2 XY 225,000& x16H x12& 43,200
203 & R =&H| 11,770 11,730 40
01 J|22H L RF=AH| 7,110 7,110 0
10|22 YR =8| 7,900, 000& * 14 x90% 7,110
02 RIS R = XIH| 880 840 40
1. 33N RF Y| 40,000& x22H 880
04 EANSHLRF=AH| 3,780 3,780 0
1. 2AN2ELERFAH] 350,000& =122 *90% 3,780
204 &2 = Z H| 1,800 1,800 0
01 MM R-HAY| 1,800 1,800 0
1. AMZHRFEY| 1,800
. s 150,000& *1H x12& 1,800
405 XH&HF SHI 6,930 3,010 3,920
01 Mt = S F SHI 6,930 3,010 3,920
1.038 BEH 1,300,000 *1CH 1,300
2.EFEE A 220,000& =14 220
3.00]¥E 2K 80,000& =124 960
4 XJAS MA 300, 000& 14 300
5828 oKt 250, 000& =24 500
6.0l MY M 170, 000& *5JH 850
7.328 X 550, 000& =24 1,100
8.312& Xt 170,000& 104 1,700
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—— A
N = 0] &F AF S & AN A
2020 & =20 A LBHS|H L IIEIEEEH DES ~ 2RSS
2N BHE1S
M =0l 8N MO TR (HHAIS)
Sl FRIMESY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
&S 1,056,101 976,756 79,345
F0l A EHO TR2(EHE1S) 190,072 146,272 43,800
FOMHEH2H 190,072 146,272 43,800
SeHAX 149,760 104,960 44,800
301 YU BHZ 149,760 104,960 44,800
0B SHE -0 -EHEESEMN= 149,760 104,960 44,800
1. S8 LESH| 149,760
toll2s¢ 300,000 32 «12& 115,200
L. &= 300,000 *32H *23| 19,200
Ch.3lo &8 20,0003 32 23| x12& 15,360
FOTXNHMHEZZ ) HESA 28,020 28,020 0
201 Bt 4d9H]| 28,020 28,020 0
01 AP 22| H| 28,020 28,020 0
(eta=24|) 1,620
1.F0AXHE =2 150,000 12 *90% 1,620
(2d+Y) 26,400
1. ZF0 XA 2 AFEE 26,400
JPAEXUHA(EZ) 25,000 *8AI2tx12€ 2,400
L E32wa 25,0003 *8A| 2tx12& 2,400
.= ra 25,0003 *8A| 2tx12& 2,400
cHESAHHRA 25,0002 «8A| 2tx12€ 2,400
0.8 =204 25,0002 «8A| 2tx12& 2,400
HH.JI2H XA 25,000 x8A| 2tx12& 2,400
AL OFZHEFRDA(ZS)
25,000 x8A| 2tx12& 2,400
O OFZtEE R WA (= 2)
25,000& «8A| 2tx12& 2,400
A HAAZX(ZEZ) 25,0002 *8AI2tx12L 2,400
X JIEtWN A (=2) 25,000& «8A| 2tx12& 2,400
It JIEtWNA(E2) 25,0002 «8A| 2tx12& 2,400
HAIS X 22| 2,292 8,292 A 6,000
307 212t0| & 2,292 2,292 0
05 QIZ2tEF 2 2,292 2,292 0
1. 20 A3 2l =42 166,000 »12& 1,992
2.EANGEEANHE =2
150, 000 * 1 A %23 300
FOIE O A KIDSOAS 10,000 5,000 5,000
401 AIEHIZL 201 Y| 10,000 0 10,000
01 Al&H| 10,000 0 10,000
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2A: BHEIS
M Fo #E MO CO(EHAEIS)
Sl FUMESY CERED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
TE8Z0E PHANE 2AANS (7 NS89
) 10,000,000& * 14! 10,000
T AIDIBHAIE EHHI(EHE1S) 5,000 5,000 0
T AIDJIBEAIE & H 5,000 5,000 0
ABSE AEES HH| 5,000 5,000 0
401 Al HIL 200 5,000 5,000 0
01 A&t 5,000 5,000 0
1.40252 AIE2 g2 5,000,000& * 14! 5,000
HAHSHAH (EHE1S) 861,029 825,484 35,545
ol 2AH | 767,588 730,353 37,235
oled 2A Y| 767,588 730,353 37,235
101 @1 21| 739,268 704,913 34,355
01 2 739,268 704,913 34,355
(232) 521,359
1.92H(1H) 82,125
. s& 78,966,000 1A 78,966
Lb. X S IH&HI 78,966,000 *4% 3,159
2. 832¥(149) 439,234
b 6= (285 E) 4,098,500 x2H x12& 98,364
t.73(132 ) 2,910,300& x4H x12& 139,695
Ch.s=2(622) 2,050,200& x5 128 123,012
.9z (48 8) 1,701,900& *3¥ ~12& 61,269
OF. HLH&HI 422,340,000 *4% 16,894
(&0 4=<) 45,033
1.UHRSRI=Y 1,470
b el (73145 E)
2,986,200 x1H x4 1%~ 128 1,470
2.8332 44 439,234,000 x1/12 36,603
3. 832 xSt 32 6,960
Jb.25E 0 & 130,000& *2H x12& 3,120
L. 108 0| & ~15 0] BF 60,000& x2H x12& 1,440
Ct.54 0l &~10 0] ©F 50,000& x4H x12& 2,400
(@IF:=RSE=) 21,212
1.5 7,920
I Hi 2 Xt 40,000 x7H =128 3,360
LEJIEIIS (XM E Z8)
20,000& «13H x12& 3,120
Ch.2MAdE 60,000& x2H «12& 1,440
2.2058 x4 2,378, 100& 1 »40%* 122 11,415
3. MHEEH B XL 469,080& x40 1,877
(SE4222Y) 22,752
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2N HAEIS

M. HMSAHH (EHE1S)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
1.S+z22g 22,752
h.s22xY 70,000& 14 x12& 11,760
L. QIR 50,000& *3H x12& 1,800
C AR SXgR2 70,000& x6H x12& 5,040
2 AISI S X YRS IHAS
30,000& x5H x12& 1,800
OF. AI2FEEHT 1,959, 700& *5%*x2% 128 2,352
(Z222Y) 60,028
1A RSY
10,509& *34 Al 2tx14H x 12& 60,028
(AlHl24a 5) 68,884
1. 3N Z A 130,000& x16H x12& 24,960
2.9 E S 0tH| 439,234,000 x1.2/12 43,924
204 & 2 £~ HH| 28,320 25,440 2,880
02 =28 xH| 28,320 25,440 2,880
1.2 28 X4 28,320
ot.52 250,000& x1H x12& 3,000
Lt.62 165,000& =»2H x12& 3,960
Ct.72 155,000& x4 »12& 7,440
ct.8~9= 145,000& x8H x12& 13,920
Jl=23 bl 93,441 95,131 A 1,690
Jl23Hl 93,441 95,131 A 1,690
201 Bt A | 42,501 42,261 240
01 At 22/ 21,428 21,428 0
(eta=24|) 12,188
1. 282984 300,000& *15H *80% 3,600
2.0HZERAREEHI 100,000& ~12& 1,200
J.T2HEH/EER2AHl 200,000 «50H *33] 3,000
4. 2DANEESIEHRLY| 150, 000& *2CH 33| 900
5.01&50|el23 | 16,0002 x2J x12& 384
.00 AdZTHNEZEXN LI
80,000& x128F A 960
7.xF0sEsx2daeRel
26,000& x248F A 624
8. 2AE2X 20,000 x40 A 800
9. 8D 2 30,000& x2CH x12& 720
(294+4) 600
1. Yd==R=2ct 60,000& *1Hx10 600
(Z&kl) 8,640
1JI2gRL+HE IS AHI
8,000& x6A/x15H x12& 8,640
02 3524l 21,073 20,833 240
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24 BHEIS
M HH2IALH(HE1S)

el JI=23Hl

SA BB O () - MM - HES 0l &+ o4 il
(B223LHA) 16,517
1.ERZI 8,304
Jb. et 3803 1004+ 12& 456
L. &1 2,180& *300H4 12& 7,848
2. 40+ ER3 60,000& x12& 720
3.80|1= 450,000& =122 5,400
4. 83X ALE 170,000& 13l 170
5, EEHMAQCIHUANERZ 15,000& »12& 180
6. A0 ETVAIEZ 4,400 128 53
7THEANEEEE 470,000 x1CH 13 470
.Y EFE=NXNSEER
1,000,000 *1CH 13l 1,000
9. XN HAZ 60,0002 x1CH*13] 60
10. HEXE XS XA 30,0002 x1CH*13] 30
M. ASEEXNXNS NS IA
130,000 1CH x 13l 130
(AN & ZHI S 4,556
1. 83AHS 1,000, 000& 1,000
2.2 ANE ST 200,000& = 1CH 200
3. HFYSEHI 100, 0002 = 1CH 100
4.2 50,000 *2CH 100
5. 20 =0IAIAE 33,000 +3CH 43 396
6. X2 QAL Al A El 30,000& 10~ 128 360
7. HEXNE R FH 150,000& = 1CH» 128 1,800
8. HF X &2l 100,000 »2CH 33| 600
202 oddl 39,600 39,600
01 = LH o4 1l 7,200 7,200
1.2 WA 20,0003 «10 x3H 128 7,200
02 A Y| 32,400 32,400
ER1GE:] 225,000& *12¥ «12& 32,400
203 2R = b 9,240 9,240
0 J22ZFR2 =8| 5,940 5,940
1|22 HRF=8| 6,600,000 * 1= x90% 5,940
02 ER & =X 600 600
1. EJAIMME R = 40,000& 159 600
04 EAN2IER2FEHI 2,700 2,700
.22 H =8I 250,000 =122 *90% 2,700
204 M R=HAH| 1,800 1,800
01 MBS HPH A 1,800 1,800
1AM YR =T 1,800
b.sF 150,000& 1H 122 1,800
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24 BHEIS
M HH2IALH(HE1S)

ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
405 XHA&HF S HI 300 2,230 A 1,930
SH| 300 2,230 A 1,930

01 At =355
L

1.9 300,000& 1CH 300

I>
U

-+
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N = 0l & At & Ml A

A LB H DIEISEI A D8S ~ 2RS

20208 & 20

2H: EHHH28
M Fo #E MO T (EHE2S)
cHol: FOMESY (sl &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
EH&2S 1,132,524 994,741 137,783
=0 MY HO ZR(EHN2S) 222,044 169,257 52,787
FOHEH2E 222,044 169,257 52,787
SeEXE 173,160 121,360 51,800
301 LEIEN = 173,160 121,360 51,800
06 S8 -0 -t¥Es2d= 173,160 121,360 51,800
1.88+g9<2Sl 173,160
tol2==¢ 300,000 »37H »12& 133,200
L& = 300, 0003 »37& »232] 22,200
Ch.alodag 20,000 37 #23| x 12 17,760
FURANHHEZO S 29 30,120 27,720 2,400
201 fEt2E | 25,620 25,620 0
01 At 2t 2l bl 25,620 25,620 0
(get=2Hl) 1,620
1.0 XM EH 2SI 150,000 «12& «90% 1,620
(29=¢) 24,000
.UMM 2 A =E 24,000
L EFLA 25,0003 *8Al 2tx 128 2,400
L AZXTHA(ES) 25,000 +8A12H+128 2,400
CHAZXHA(SZ) 25,0008 +8A12t«122 2,400
et AZIHA(DZ) 25,000 +8AI2H+128 2,400
O @JtWA (2 2It8H)
25,0003 *8Al 2t+ 128 2,400
b @It A (I 2 ItEH)
25,0003 *8Al 2+ x 12 2,400
AL AEE A 25,0002 +8Al 2+ x 128 2,400
Ob.otuA 25,0003 *8Al 2t+ 128 2,400
A BHEwA 25,0002 +8Al 2+ x 128 2,400
PRSI = 25,0003 *8Al 2tx 128 2,400
405 XHAHE SH 4,500 2,100 2,400
01 ML ESFHSH 4,500 2,100 2,400
TF2NXME ¢t 2
3,600,000 «1CH 3,600
2.FUXNXMEH S 2 900,000 =10 900
MR 2] 8,764 15,177 26,413
101 124 4] 6,272 5,560 712
04 D12 H22 XS 2 = 6,272 5,560 712
(SEA 34 22d) 6,272
1.80 68,720 /Al 2t 1 «55A| 2t x 128 5,670
2. 1EEEE 5,670,000& *1.65% 94
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2N

M =0l 8N MO T2 (EIM2S)
Sl FRIMESY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MM EEE 5,670,000 x0.908% 52
4.=2R0ASEE R 5,670,000& *4.5% 256
5. 20ALEER 5,670,000 x3.23% 184
6.-0&IIQRYEEE 184,000 *8.51% 16
307 21201 A 2,492 2,492 0
05 BIZERI & 3 2,492 2,492 0
1.Ro13H el 166,000 «12& 1,992
2.8AF It EH 250,000& »23] 500
FOENOA XF3 oA 10,000 5,000 5,000
401 AIEHI L 20 10,000 5,000 5,000
01 A& HI 10,000 5,000 5,000
1.8 8% E2AHANE EX(F X=359)
1,250, 0002 *14] 1,250
2. (HX) EX(EHE S 881-98)(+* X532
) 8,750,000& 14 8,750
SAIDJIBEAIE BUI(EHE2S) 5,000 5,000 0
S AIDIEHAIE & HI 5,000 5,000 0
A==2 ANEE FHI 5,000 5,000 0
401 Al HIZ 201 I 5,000 5,000 0
01 A& HI 5,000 5,000 0
1.A2S ANEE A2 5,000,000& 14! 5,000
HE2IZHI(EHE2S) 905,480 820,484 84,996
el 2l 797,878 720,412 77,466
ol 2AH| 797,878 720,412 77,466
101 @144 dl 767,578 694,972 72,606
01 2= 767,578 694,972 72,606
(22) 552,767
1.98/M0(1Y) 82,125
.sF 78,966,000& x1H 78,966
Lt. X <&l 78,966,000 *4% 3,159
2.83g(15Y) 470,642
Jr.e=(2658) 4,022,4003 x3H «128 144,807
L7298 8) 2,571,900 «4H «12& 123,452
Ct.82(658) 2,050,200 x5H 123 123,012
2t.9=2(4s8) 1,701,9002 x3H x12& 61,269
Ob. X L4 &8I 452,540,000 *4% 18,102
(840 ¢) 49,430
1. 032 =E 2,049
53U (623052)
4,163,200 x1H »4 1%+ 122 2,049

_80_




2N EHAN2S

HH: WHSAA (BE2S)
chel: olete o] (SHel:@el)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
EEEE; 470,642,000 #1712 39,221
3.HIAYIAD 8,160
JF.251 0] A 130,0002! *32 » 122 4,680
Lb. 153 01 A-~204 012 80,0008 « 1% 128 960
CH. 10201 A~15108F 60,0008 12 » 128 720
2H.5 0/ A~102 018 50,0008 «3% 128 1,800
S ERES=)) 6,000
1otsag 6.000
. B2 Xt 40,0002 ¥52 » 122 2,400
Lb.JIE S 20,0008 <122 « 128 2,880
Ch. S M Xt 60,0002 12§ x 122 720
(S+224+9) 23,040
1.S4+8Qay 23,040
F.E224Y 70,0008 152 « 128 12,600
Lh.oggoag 50,0002 *4% + 122 2,400
CHAFBISXIZS AT 70,0008 «7% 128 5,880
2ABIEX Y LYl AR
30,0002 +6% « 122 2,160
(zn2249) 64,316
LAz 2e sy
10,5098 +34A1 2H+ 152 « 122 64,316
(AHle4d 5) 72,025
1.5 3 Al 130,000 *16% 128 24,960
2.2 = I}l 470,642,0008 +1.2/12 47,065
204 =2 482 bl 30,300 25, 440 4,860
VEEEET] 30,300 25, 440 4,860
.53z 30,300
ot.52 2500002 * 1% « 122 3,000
Lt.63 165, 0002 +3% + 122 5,940
.72 155, 0008 x424 » 122 7,440
2}.8~92 145, 0002 +8% + 122 13,920
= A 107,602 100,072 7.530
Il = A 107,602 100,072 7.530
201 LEt2 A 47 602 46,282 1,320
01 A2 22/t 23,956 23, 140 816
CEEETD 13,420
1LENSH L 300, 0002 * 16 «80% 3,840
2HOIMTRIHEL /S 200,0008 *4CH «43] 3,200
30502 20,0002l «37H * 122 720
40150 Rt 2 | 1000002 *23] 200
5.2AMMSIIE 180, 0002 *1CH +63] 1,080




2A: BHE2S
M HH2HGHI(EHA2S)
¢l =gl

SA BB O () - MM - HES il 2
6.FUSESET2L2EX 26,0003 *30H A 780
7.2 LE=EX 80,000& »20&r A 1,600
8. = ALE X 20,000 »40%t A 800
Q.UHIZHRARES 100,000& »12& 1,200

(dxt2) 720
1. 80| Xs 30,000 122 »2CH 720
(2g9+¢) 600
1. 98+ 60,0002 x1H 10! 600
EET 9.216
1olEdRsssag A
8,000& x6AIx16H «12& 9,216
02 3322l 23,646 23,142 504
(BS22LHA) 17,564
1.28= 6,144
Jb. et 3803 x2004 x12& 912
L. 21 2,180& 20024 123 5,232
2. 80|l 700,000& x12& 8,400
.40t R3 70,000& x12& 840
4. 8338 LR 200,000 »23| 400
5. 58NS EER 500,000 = 1CH » 13 500
6.sHEXNSIAME 60,0003 x1CH*13] 60
7. SHEXSXS A 30,000 x1CH*13] 30
.AEFE=NXNSEER
1,000,000& =10 13l 1,000
9. ¥ EFE=NXSIEAZE 60,0003 *1CH*13] 60
10.XSESNXH NS A
130,000& = 1CH x 13l 130
(=2 4l) 1,296
1.Xlot 2l2/a ¥ FUTXIME
1,350 30 *4A| 2t+80L 1,296
(N & ZHI Sl 4,786
1. 83ANHE 950,000& 950
2. LS EHI 100, 000& 14 100
3.2AMESD 150, 0002 = 1CH 150
4. HEX S S FHI 150,000& = 1CH 128 1,800
5. dExt&=2ldl 100,000 »2CH 33| 600
6. 2= 50,000& »2CH 100
7. 2CIEIA AR K 33,0003 *4CH +43] 528
8. X 201A (ZE e )AlAE
30,0003 «1CH*12& 360
9.0Xgeds iz 16,500 »1CH =123 198
202 oddl 42,000 39,300 2,700
01 = LH o4 1l 9,600 9,600 0
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2A: BHE2S
M HH2HGHI(EHA2S)

@ Jl2gl (&2 &)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2

1.2 WAl 20,000 10 x4H x 128 9,600

02 MY 32,400 29,700 2,700
1.2 XY 225,000& x128 x12& 32,400

203 &R =&H| 9,820 9,240 580

01 J|22H L RF=AH| 5,940 5,940 0
10|22 RFAH| 6,600, 000& * 1 x90% 5,940

02 RIS R =X H| 640 600 40
1.3 RF Y| 40,0002 =164 640

04 2SI L RF=AH| 3,240 2,700 540
1. 2N2ELERFAH] 300,000& =122 *90% 3,240

204 &2~ F H| 1,800 1,800 0

01 MM HR-HAY| 1,800 1,800 0
1AM 3P FAH| 1,800
. s 150,000& *1H x12& 1,800

405 XH&kE S| 6.380 3,450 2,930

01 JHAtY = ZF SHI 6,380 3,450 2,930
1 HEZZMEHYAFE 3,800,000& * 14 3,800
2.8 AZ A 300, 000& =24 600
3.0/ ME 170,000& x4 JH 680
4 MG LED] 600, 0003 =14 600
5.FUSESLED 700,000& =14 700
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N = 0l & At & Ml A

A LB H DIEISEI A D8S ~ 2RS

20208 & 20

SN RS
M 3o M MO TR(RYS)
cHol: FOMESY (sl &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
TS 1,235,439 1,104,262 131,177
=0 MY HO ER2(RYS) 282,712 199,403 83,309
FOHEH2E 282,712 199,403 83,309
s.8t8 X 205,920 150,880 55,040
301 LEIEN = 205,920 150,880 55,040
06 S8 -0 -t¥Es2d= 205,920 150,880 55,040
1.88+g9<2Sl 205,920
tol2==¢ 300,000 »44H »12& 158,400
L& = 300,000& »44F »23 26,400
Ch.alodag 20,000 x44H #23| x 12 21,120
FURANHHEZO S 29 57,820 35,250 22,570
201 fEt2E | 32,820 28,020 4,800
01 At 2t 2l bl 32,820 28,020 4,800
(get=2Hl) 1,620
1.0 XM EH 2SI 150,000 «12& «90% 1,620
(29=¢) 31,200
.UMM 2 A =E 31,200
b HAATR(EZ) 25,0002 *8AI 2«12 2,400
Lt HAAZR(EZ) 25,0008 +8A12t+12& 2,400
CtHAAZX(1DZ) 25,0008 +8AI2t«122 2,400
et .CHOIHEHA(Z2)
25,0003 *8Al 2tx12E 2,400
Ot CIHOIHEHA(EZ)
25,0003 *8Al 2tx 128 2,400
. J)tna(xg) 25,0003 *8Al 2+ x 12 2,400
ALRItWA(ES) 25,0002 +8Al 2+ x 128 2,400
Ob.otuA 25,0003 *8Al 2t+ 128 2,400
Aot2Ustn A 25,0002 +8Al 2+ x 128 2,400
. =803 25,0003 *8Al 2tx 128 2,400
JhUEMEHA 25,0002 *8Al 2+ x 128 2,400
Et.2eldetml(E=2) 25,0008 *8AI2t«12& 2,400
.22 detml(53) 25,0008 +8AI2t«12& 2,400
405 Tt FH S 25,000 7,230 17,770
01 &L ESFHSH 25,000 7,230 17,770
1. 228 My 2 260,000& =504 13,000
2. BolA X 7Y 120,000 »100CH 12,000
MR 2] 8,972 13,273 A 4,301
101 1248l 6,272 5,560 712
04 DIt 22 XS+ 6,272 5,560 712
(SHEA A8 Y) 6,272
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SN PYS
M =0l 8N MO £2(TYS)
Sl FRIMESY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
1.204 68,720 /8Al 2 x 12«55 A| 2Hx 128 5,670
2.AMMESE = 5,670,000& *0.908% 52
3.)E8s8s 5,670,000 *1.65% 94
4. 200AZESE =S 5,670,000& *4 .5% 256
5. 200 HUEE = 5,670,000 *3.23% 184
6. L0 EIQUABES 184,000& *8.51% 16
307 2I2t0| & 2,700 2,700 0
05 QIZ2tE 2 2,700 2,700 0
1. 20 A2l =42 200,000& x12& 2,400
2.EAMNEIGHEHHHMLELES 150,000& *23| 300
ZFOIE Ol & K32 10,000 0 10,000
401 AlEH|IZL £ 0HY| 10,000 0 10,000
01 Al&H| 10,000 0 10,000
1.2 52 sd38s 2 jetHA SSHAA e
et dX1(7 X3 10,000,000 « 1Al 10,000
T AIJIBIAIE EHH(RLS) 5,000 5,000 0
S AID|BEAIE A H| 5,000 5,000 0
225 AMAESE | 5,000 5,000 0
401 AlEHIZ 2 0HY| 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.08358 M= A2 5,000,000 x 1Al 5,000
HEL2AAH (Y S) 947,727 899,859 47,868
ol =2 HH| 836,777 792,989 43,788
ol ALY 836,777 792,989 43,788
101 Q124 H] 804,617 38,928
01 2 804,617 38,928
(23) 577,421
1.92H (1Y) 82,125
.= 78,966,000 x1H 78,966
[ S =) A 78,966,000 *x4% 3,159
2. X324 (16Y 495,296
t.63 (263 4,022,240& »3H x12& 144,801
Lt.72(10& 2,662,200 x5 x12& 159,732
Ct.s24s= 1,871,400 x5 x12& 112,284
.92 (3s= 1,650,800& x3H «12& 59,429
O HRMHH 476,245,440 x4% 19,050
(At 4=g) 49,123
1.UHRSRI S 2,033
.58 U <( 295 =2)
4,131, 100& 1 *4 . 1%+ 12& 2,033
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2N
X ZH -
L= B

el

e 4J
JY ox 09
HO HO oK1

02 02

=5

(O]
=
4
02
O

S B G(SA) - NRANY - BES il 2
2.82=¢ 482,997,000& x1/12 40,250
3.82==Eoe=s 6,840
Jb.25E 0 & 130,000& »2H «12& 3,120
L.20E8 01 & ~ 25101 8¢
110,000& »1H «12& 1,320
Ct.5E@ 0l &f~10= 0 8¢ 50,0003 »4H » 12 2,400
OHHEEY) 10,770
1.t&5E 6,000
It B < Xt 40,0003 x8H =128 3,840
L. A= (R MAE) 20,0002 x4 <128 960
Ct.OIEFDL S 20,0003 x5H » 128 1,200
2.2052=¢(82358)
1,703,300 *1H x40%+*7 & 4,770
(E=22=¢) 23,880
1.5=X2+8 23,880
h.s2f+4 70,000 x16H «12& 13,440
L QIR 50,0003 »4H =12 2,400
AN SXERE 70,0003 x7H 128 5,880
ch A S XY RIS
30,0003 x6H =122 2,160
(ZB222Y) 68,603
RPN
10,5093 *34A| 2tx16H « 128 68,603
(24 5) 74,820
1. 85 Al 130,000& =172 = 12& 26,520
2. BEF Iyl 482,997,000% *1.2/12 48,300
A=A 32,160 27,300 4,860
02 22 =4 32,160 27,300 4,860
1. 222 x4 32,160
t.5a 250,000 x1H «12& 3,000
Lt.62 165,000& »3H «12& 5,940
ot.72 155,000 5 x12& 9,300
ct.8~92 145,000& »8H «12& 13,920
110,950 106,870 4,080
i 110,950 106,870 4,080
2 et A | 53,420 52,080 1,340
AFS 2t 2l Hl 26,184 25,368 816
(Zeh=2Hl) 15,072
1. 2422l 300, 000& » 172 «80% 4,080
2.HHIZERARES 100,000& «12& 1,200
3. EEHEU 180,000 =504 43| 3,600
4. 2MNESIEY 180, 000& »2CH x4 3 1,440

_86_




- 87 -

o)
]
= 0 <
oF n N
ol x_o 0
—- =
E=)
N
H3r ~
uikd! &
RS
o o o
060000
28888858888 ¢8¢ ¢
z &Jzﬁzm%oowmeoo
ar o I~ - ,2831447 =3 o
o~ O — [Ye) o o
= NN ~ o — S ® L Y 8 8 8 8
< = - 7 883888 §888
= <~ = 8§ & I8 28
o M i o]
nw._unm__._@.@m_ NG S
¢S Y xowoa Yo% o m 7
or W EIE® QY@ g s« & W @
m32021%% * v = N W oW W e e o
X0 OM.*OMM%O [0 = % 1&&&22@__9 ol ol o —
m s ¥ w o ®ES s v N 80 535 T Ox X % % - - iof WS I om
S & 8 8 8 8 o o = ® ~ S W B W oo o * « ” L A S
: 3%020,0,50 @ o & mmw01%%0mw * ! T S x ox o NS ¥
3 Sg &8 = = S g 5§88388s¢8 3 T 8 S B kg
e\ S © oL S 8 M8 S o O = oH
= N * %%000%200, > =9 42 S8 8 8 % @o_.._o
= 3 = 4 S g 8 =8 g ¥~ S g *o S R ~ S S
I+ R _ @ S 8 2 < WS Re T -~ g g ® _W2g
= e 5 N & ~ m— W= 21wm_mw3
: JL R 3 @ o H X N mS -
—~ 5 @ 3 i — ~ o~ 8 —
= s w42 i a W @@ 8 WK 3T
&Y _ ) E;E__\_J,A nJ R0 D = - 30 <k
M o | o mms ur 0 IR = = W N
o - <0 % m & uo o oo 5 N 0] =0 — ~ E = o = = T =
> F (B Z o m o B o It a0 B = m o, mwxad br K & o
- I R AN o Ko &) Mo —~ <k 30 o = of o“_u_ 5w W = P _,"AE B0 = Hr M
- . m_ Ko Ko Ko ) ) woa o K ~ o 5 o 3 = G Wk MR R Ho o= = Eow = U
R0 ) _o_.o_m_xfo_.%@#éauATUE woggwem,gwumaro%gwx N Dok a0 o 3
30 o @567.&9.wn.zgoen§wm ozgm_r._om__o.wmvu_xnﬂmﬂ o:ggggmxlm
4o 01 RO 0 T W T oW T o ) m O N 3 R o)W RORORO ~ = = & 0 R OR = ~ ol
o0 R0 I ~ = o — ] <0 ol W OB B K Pl R e T = 3 = m — 00
:ung| X — A0 H0 N om B oo~ 0 R : K KO RO < RO~ 53
60 ~ H__v w © N~ o »® = “H ._.m|_= R0 mmo MI. 0 K = %ﬂ
TEF Rl B AR
Ik RO O




SN PYS
B #HL2ABY(PYS)
& 123l (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
202 Oddl 44,700 42,000 2,700
01 = LH 4 Hl 9,600 9,600 0
1.2 WA Y 20,0003 «10L «4H <128 9,600
02 FHOHI 35,100 32,400 2,700
1.0 225,000& x13H + 123 35,100
203 B R =&l 11,030 10,990 40
01 J1228 2= 7,110 7,110 0
11228 gRF8H| 7,900,000 1 «90% 7,110
02 It =2 680 640 40
TLEJ ISR FEH| 40,000& 17 680
04 RENSELRF=LH 3,240 3,240 0
1LEASSYRFLL 300, 000& = 122 *90% 3,240
204 A=A H| 1,800 1,800 0
N EEERSETT 1,800 1,800 0
1AM 3P FAH| 1,800
.sH 150,000& »1H «12& 1,800
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A & O & A B Ml M
20209 &= 20la LS JIEISEEH DES ~ ARS
SNBSS
Hu: 30 #E MO TR(BSE)
el ZOIME 29 CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
2SS 1,117,873 990,135 127,738
=0 MY HO ER(23S) 190,228 136,660 53,568
FOMEH 2 190,228 136,660 53,568
sgE & 135,720 95,120 40,600
301 LEIEN = 135,720 95,120 40,600
06 S8 -0 -t¥Es2d= 135,720 95,120 40,600
1.88=+¢ 135,720
tol2==¢ 300,000& 29 »12& 104,400
L& = 300, 0003 29 »23 17,400
Ch.alodag 20,0003 x29 #23| x 12 13,920
FURNXNEEH 2208 29 35,184 20,820 14,364
201 fEt2E | 28,020 20,820 7,200
01 At 2t 2l bl 28,020 20,820 7,200
(get=2Hl) 1,620
1.=2UNXME 2SH 150,000 * 122 *90% 1,620
(29=¢) 26,400
1.:UNXME ZA=E 26,400
It A0 WA 25,0003 *8Al 2tx 128 2,400
L E7ud 25,0003 *8Al 2+ x 12 2,400
Ch.2Jtna 25,0003 *8Al 2tx 12 2,400
ct.ot2LIotna(s5a)
25,0003 *8Al 2tx12E 2,400
OS2 LUStRA(X22)
25,0003 *8Al 2tx 128 2,400
Bt. =813 25,0003 *8Al 2+ x 12 2,400
APt mA 25,0002 +8Al 2+ x 128 2,400
Of.ctel A 25,0003 *8Al 2t+ 128 2,400
X 2AE0ILHEHEZ) 25,0002 +8A1 2t «12& 2,400
X2 EO0ILEHE=S) 25,0008 *8Al 2«12 2,400
Jh.Ag8HA 25,0002 *8Al 2t 128 2,400
405 TtatFH S 7,164 0 7,164
01 ML =SFHSH 7,164 0 7,164
1.2F2 0l HEH &I 6,314,000 14 6,314
2.0l=4 R H0t013 850,0002 »1CH 850
AL 2 R2e| 9,324 15,720 A6,396
101 1248l 6,264 5,560 704
04 D12 R22 RS2 6,264 5,560 704
T.SEAMNEAU2Y 6,264
JbII23 68,7202 /8AI 2t 1H #B5A1 2H <12 5,670
L1248 5,670,000 *1.5% 86
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SN B
M
=
e

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O.&4THEE 5,670,000 x0.908% 52
ct.ZeASEH 5,670,000& *4.5% 256
O =242 28 5,670,000 x3.23% 184
&I RYEE 184,000 *8.51% 16
307 21201 A 3,060 3,060 0
05 BIZERI & 3 3,060 3,060 0
1.Ro 3 el 230,000& »12& 2,760
2ENFIGAEGBEELE
150, 000& * 100 £ %23 300
FOEAHMA XD oA 10,000 5,000 5,000
401 Al HIZ 201 Y] 10,000 5,000 5,000
01 A& HI 10,000 5,000 5,000
1.0t X8 4X(F XNEs9)
3,000,000& =14 3,000
2.4JI£E Ot ZAHel EH(F XNEsl9)
4,000,000& =14 4,000
.uxz e Os2 AX(7 NHE39)
3,000,000& =14l 3,000
SAIJIBEAIE BH(28S) 5,000 5,000 0
S AIDJIBEAIE FEHI 5,000 5,000 0
L2 ANEE FHI 5,000 5,000 0
401 AIEHI L 201 5,000 5,000 0
01 A& HI 5,000 5,000 0
1.A=S ANEE R 5,000,000& =14l 5,000
HY2IZH (AES) 922,645 848,475 74,170
ol 2d | 821,553 749,769 71,784
ol 2| 821,553 749,769 71,784
101 @124l 791,373 724,149 67,224
01 2= 791,373 724,149 67,224
(23) 557,949
1.¢98HM01Y) 82,125
. =& 78,966,000& x1H 78,966
L. M<oHAbI 78,966,000 *4% 3,159
2.23E(15Y) 475,824
r.62(2588) 3,978,900 3@« 12& 143,241
LH.72(988) 2,571,900 »3H x 123 92,589
Ct.8=2(828) 2,228,100 «6H «12& 160,424
et.9=2 (45 8) 1,701,900 »3H 123 61,269
Ot. ™M &l 457,523,000 *4% 18,301
(&0i==¢) 47,812
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SNBSS
B #HLARY (RS S)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
1. 824 475,824,000 x1/12 39,652
2. 832Gt 32 8,160
JF.25E 0] & 130,000& x2H x12& 3,120
Lt. 1543 0] &~204 O] Bt 80,000& x2H x12& 1,920
Ch.104 0] Ab~154 0] 2t 60,000& *1H x12& 720
2.5 0] & ~10E 0| 8+ 50,000& x4H x12& 2,400
(JtH 224 26,313
1.5 11,760
OF. Ui S Xt 40,000 x7H x12& 3,360
LE.JIEHIS 20,000& *11H x12& 2,640
Ch.2aMAH 60,000& *3H 128 2,160
k. AR XFA 100,000& *3H x12& 3,600
2. HEEH B XL 3,753
Jb. D SsHM 469,080& *2H 4| 3,753
3.Z50 58 900,000& x1H x12& 10,800
(Ex222Y) 22,440
1.5822Y 22,440
h.s22+Y 70,000& 15 x12& 12,600
L. Ol 50,000& *3H x12& 1,800
CHAISI S X g2 70,000& x7H x 128 5,880
M EXNERSEHAZ
30,000 x6H x12& 2,160
(2222 64,316
1A 2R Y
10,509& *34 Al 2tx156H x 128 64,316
(AlHI24a E) 72,543
1. 3 ZAH| 130,000& 16 x12& 24,960
2.9 E S JtH| 475,824,000 x1.2/12 47,583
204 &R = A Y| 30,180 25,620 4,560
02 &g 8 x4l 30,180 25,620 4,560
1.2 322 X4 30,180
ot.52 250,000& x1H x12& 3,000
Ll.62 165,000& »3Y¥ x12& 5,940
.73 155,000 3% 12 5,580
cl.8=2~92 145,000& x9H 128 15,660
Jl=3tl 101,092 98,706 2,386
JlE2343Hyl 101,092 98,706 2,386
201 Bt A | 45,692 44,636 1,056
01 AtR 22l b 23,124 22,308 816
(eeta=24|) 12,588
1. 2829 +8H| 300,000& *16H *80% 3,840




2N S
X XH - SH X
(=R B

o
gelr Jl=

2 (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
2.00 2R AR E S| 100,000& ~12& 1,200
3.0 ERE EH/EE
200,000& *6CH x4 3] 4,800
4. 2AMNEEI EYH 100, 000& *2[H *23] 400
5.00AdsENESELEX 80,000& »108r A 800
6.FRSEsx2L=EX 26,000 » 182 A 468
7.2 A2 X 20,000 *308r A 600
8.01&J| 2= 20,000& *2 = 12& 480
(LX) 720
1. 80| 30,000& =20 12 720
(2daY) 600
1. 95856 60,000& *1Hx10L 600
(ZHl) 9,216
1JI2gRLHE 2 ZAHI
8,000& x6Alx16H x12& 9,216
02 3524t 22,568 22,328 240
(2222 2 HA) 19,234
1.28Z 6,144
JF. Bt 380& x2002H x12& 912
L. S9I 2,180& x20021 x12& 5,232
2.80|& 850,000& »12& 10,200
.40t 2 50,000& x12& 600
4. 01FA TV AIEE 10,000 x1CH =128 120
5 833X a3 200,000& 13| 200
6.0 EX MALES 70,000 *1CH *13] 70
7.HENY BEE 600,000 = 1CH 600
8.8J|Xt BEEZ 1,000, 000& *1LH 1,000
9. HAEXEY XK= XA 150, 000& *2CH x 13 300
(AIE = HI S XIH]) 3,334
1.3A2H2 A2 44| 800,000& *1JH 2~ 800
2.2AE S| |A22 ] 100, 000& *2CH 200
3.01EXd K80 € |4 100,000& = 1CH 100
4. 27| g2l 50,000& = 1CH 50
5. 2010l Al A8 X2 4H|
33,000& *2CH *4 3] 264
6. X2 A A AE S| 24|
30,000& *1CH+x12& 360
7. HENY REH| 80,000 *1CHx12& 960
8. #HAEXE =2yl 100, 000& *2CH 33| 600
202 044 42,300 39,600 2,700
01 2LHOHI 7,200 7,200 0
1. =2WH Y 20,000& 10 x3H x 128 7,200
02 H0b| 35,100 32,400 2,700
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N = 0l & At & Ml A

20209 = 20la LB IIEISESH DEs ~ FRS
FN: SUS
Ha: x=0l 8% MO T2(SUS)
chelr FOME Y (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sSU=s 1,182,971 1,126,080 56,891
MY HO TR2(SUS) 259,670 181,110 78,560
QldleH2d 259,670 181,110 78,560
SHEIA 182,520 134,480 48,040
301 LPEAZF 182,520 134,480 48,040
05 8% -0 -tH¥ESE4S 182,520 134,480 48,040
1.88+8 € &3l 182,520
FIlE=g 300,000& 39 «12& 140,400
L. &= 300,000& 39 #23| 23,400
Ch.3lo =% 20,0003 39 «23|«12& 18,720
FOUNXNEMHEZ OS2I 20,820 19,362 1,458
201 €24l 20,820 19,362 1,458
01 At 22l 20,820 19,362 1,458
(Zer==gHl) 1,620
1.FXXMEH 23| 150,000& 122 *90% 1,620
(2g=4¢) 19,200
1.:2UXEE ZAE 19,200
Jb. MOl m A 25,0002 *8Al 2+ x 122 2,400
Lb.ctQl e A A 25,0003 *8Al 2t+128 2,400
Ch.elwa 25,0003 *8Al 2+ =122 2,400
ct.2ItwA 25,000 *8Al 2t x 128 2,400
Ot A 25,0003 x8Al 2+ 12 2,400
H.2Ssunsd 25,0003 *x8Al 2t 128 2,400
AHEOIIME FOIRAME T2
25,0003 «BAl 2t+22 2+ 128 4,800
FANRX 22 46,330 27,268 19,062
201 LBt 40,910 22,748 18,162
01 At 22l 40,910 22,748 18,162
1.4 F A 0l & HI 21,374,000 » 14 21,374
2. QA& A2 el I 1,628,000& »12& 19,536
307 glz2+ol & 5,420 4,520 900
05 RIZIRIEF 3 5,420 4,520 900
T.eoZyaeltdss2 350,000& 122 4,200
EMEIUHE A ==2
160, 000% * 100 2 %23 320
SEASZIIRAACIHE 2 300,000& 300
4 2SN LEANMBHANE 300,000& 300
5. A%t EFF2 300,000& 300
FOEAMA XIH3 2 A 10,000 0 10,000
401 AIEHIZL 201 10,000 0 10,000
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M BUS
Mz =0l N BO T2 (SUS)
Sl FUMESY CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
01 A& HI 10,000 0 10,000
1. 480 SHEI #XE Z02H01E EX(F
X3 9l) 10,000,000 *14] 10,000
SAIDIEEAIE HHI(SUS) 5,000 5,000 0
S AIDJIBEAI A & H| 5,000 5,000 0
AES AMEZ2 FH| 5,000 5,000 0
401 Al HIL 201 5,000 5,000 0
01 Al& H| 5,000 5,000 0
1.4082 AlE2 S22 5,000,000& x 14 5,000
HE2HAH (SUHS) 918,301 939,970 N21,669
ol 2| 812,891 835,095 N 22,204
ol 2A | 812,891 835,095 N 22,204
101 2124 4| 782,591 807,435 N 24,844
01 2= 782,591 807,435 N 24,844
(22) 566,781
1.2/ (1Y) 82,125
.s& 78,966,000 x1H 78,966
L. H oAbl 78,966, 000& *4% 3,159
2. 5832 €(15%) 484,656
.63 (235 2) 3,884,200 x3H x12& 139,832
Lh.72(888) 2,477 ,400& x4H x12& 118,916
th.s29se) 2,311,400 x6H »12& 166,421
.92 (48 8) 1,701,900& »2H 128 40,846
OF. X S0 &bl 466,015,000 *4% 18,641
(M) 47,828
1.8252¢ 484,656,000 x1/12 40,388
2.832x=Gota 3 7,440
JF.25E 0] & 130,000& *1H x12& 1,560
Lt.208 0] &H~25E 0128 110,000& x1H = 12& 1,320
Ch.154 0] &~204 0] 2t 80,000 x1H x12& 960
ch. .54 0| A ~10E 0 Gt 50,000& x6H x12& 3,600
(JHHEE 2= 7,440
1tE2y 7,440
Jb . Hi < Xt 40,0002 x6H x12& 2,880
LE.JIEHIS 20,0003 x16H x12& 3,840
CHOIMZ2(EMXH) 60,000& *1H +x12& 720
(S+22+9) 22,800
1.S4824g 22,800
h.s22xY 70,000& x15H x12& 12,600
L. Ol 50,000& *3H x12& 1,800
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BN SUHS
M. HMSAHH(SUS)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Ch. Al EXgR2 70,000& *7H x12& 5,880
2 A S X YR I3
30,000& *x7H x12& 2,520
(ZB224Y) 64,316
I EERN
10,509& *34 Al 2tx15H x12& 64,316
(AdlE2d 5) 73,426
1. 3= 4| 130,000& x16H x12& 24,960
2.9 & 50yl 484,656,000 «1.2/12 48,466
204 &2 =2 Z H| 30,300 27,660 2,640
02 =282 xH| 30,300 27,660 2,640
1. 832 X4l 30,300
ot.53 250,000& x1H x12& 3,000
Lt.62 165,000 *3H x12& 5,940
Ct.72 155,000& x4 «12& 7,440
ct.8~9= 145,000& x8H x 12& 13,920
Jl2 &bl 105,410 104,875 535
Jl23Hl 105,410 104,875 535
201 LBt Y| 50,790 49,565 1,225
01 AFR22t2ldl 20,766 20,766 0
(et4=4|) 10,230
1. 2N2g 84| 300,000& *16H *80% 3,840
2.0HIZLERAMEES 100,000& = 12& 1,200
. AUO0IAEZRIEEH/EE 200,000 *50H x23] 2,000
4.015)|el2 20,000& *1CHx12& 240
5ZMNESEINEY 200, 0003 *2CH x23] 800
.00USTHNMEZEX 80,000& x158F A 1,200
7.F:0SEsx2¢2EXN 26,000 *255F A 650
B.MEZIAHESE AREFY L 4|
300,000& 300
(294+%) 600
1. 95856 60,000& *1H*10 600
(Z2Hl) 9,216
1olEgdesssag A
8,000& x6Al x16H x12& 9,216
(dxtz2) 720
1.820] dXz 30,000& =20 12& 720
02 3524l 30,024 28,799 1,225
(B22Z2LHMA) 25,088
1.28Z 10,388
Jb. 8t 380& x2702 x12& 1,232
L. S9I 2,180& #3504 x12& 9,156
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M SUS
M. HMSAHH(SUS)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
2.80|2 900,000 x12& 10,800
3. 4Gt 2 200,000 »6& 1,200
48 XHATLE 180,000& x 13| 180
5. 00EXMABES 80,000 *1CH =13/ 80
b.ESHMAXNHFEE = 750,000& *2CH *13] 1,500
7 SHIANHSESEMNTTE 60,000& *23] 120
B.EAMNNESLZS(SHHIZ) 70,0008 %23 140
9. S8 AR XS XA 100, 000& *2CH 13 200
10.21¥ & 2EEH YRS
20,000& =20 12 480
(AIE & HI S XI]) 2,336
1.23ANAES X E H| 1,000,000& 1,000
2. HAE S EHI 7 XY 100, 000& * 1A 100
3.2 AT ST 170, 000& ~2LH 340
4. 2|7 X224l 70,000& *2CH 140
5,20 E0A AT E4H (2IRA)
33,000 *3CH *4 3] 396
6.2 EH 22l AE S X E4Hl
30,000& *1CHx12& 360
(Xt2FABHH|) 2,600
1. &= S H| 150,000 x1CH=12& 1,800
2. XA H KXY 200,000& *20CH x23] 800
202 04d| 42,300 42,300 0
01 2L Y| 7,200 7,200 0
1. =AY 20,000& 10 x3H x 128 7,200
02 &40 H| 35,100 35,100 0
1.2 ¥l 225,000& 13 «12& 35,100
203 &R =&H| 9,820 9,820 0
01 J|22HLR=AH| 5,940 5,940 0
10|22 R =AY 6,600, 000& 1 x90% 5,940
02 RIS 2 =X H]| 640 640 0
1. EJIMAE 2R H| 40,000 *16YH 640
04 BH2HAREAY| 3,240 3,240 0
1. 2EN2ELERFAH| 300,000 *12& *90% 3,240
204 = 2 4= A H| 1,800 1,800 0]
01 SR AH| 1,800 1,800 0
1. AMISHRFE| 1,800
. s 150,000& x 18 x12& 1,800
405 KHo&HFE S HI 700 1,390 A 690
01 JHAHE =2 Z F S H 700 1,390 A 690
1. 888 HATD) 350,000& =2CH 700
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==
N & o & AF & H Al A
20208 & =20l ah LBHSIH L IIEISEEIH NS ~ 3RS
SN SHS
M =0l #F MO TR(SHE)
Sl FRIMESY CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
sSHS 1,143,063 1,033,961 109, 102
F0 WY B SR(SHES) 206,286 135,996 70,290
FUMHZY 206,286 135,996 70,290
=.BHE 23243 163,800 114,800 49,000
301 LPEAZF 163,800 114,800 49,000
05 S& 0% -EtE2ES243 163,800 114,800 49,000
1.88+=2¢E sl 163,800
ol 300,000& 35 x12& 126,000
.02 300,000& 359 #23| 21,000
Ch.3l o & A =g 20,0003 *35H 23| x12& 16,800
FOUMEHEZOHZY 13,296 10,896 2,400
201 Yet2 | 13,296 10,896 2,400
01 At 22l 13,296 10,896 2,400
(get+=&dl) 1,296
1.FE XX EEH2E 120,000& =122 *90% 1,296
(2g9+¢) 12,000
1. LA 12,000
Jb.2JH(A) 25,0003 *x8Al 2t 128 2,400
LE.22IK(B) 25,0003 *8Al 2+ x 12 2,400
Ct.CHOIHEH A 25,0003 *x8Al 2t 128 2,400
ct. =803 25,0003 *x8Al 2t 128 2,400
Ot.2el et 25,0003 x8Al 2+ 12 2,400
AN 22| 19,190 10,300 8,890
307 21240 11,200 10,300 900
05 RIZIRIE 3 11,200 10,300 900
1.203H849 =2 4,020,000& 4,020
2. HJI M A A 160,000& =128 1,920
S ATANLNHEE M 150,000& = 12& 1,800
4 A0UANE HSIIsES 700,000& » 14! 700
5. 8ZJ1&8IIEZ U 230,000& »12& 2,760
401 Al HI L 2 THHI 7,990 0 7,990
01 A& HI 7,990 0 7,990
1.2134 &8 i 4,670,000 * 14! 4,670
2.UUANE(FUXXIHH) 2,240,000 » 14! 2,240
3.A38 0l AX(FUXXHEH)
300,000 =14l 300
4. 2ct2lE HX(38) 780,000 » 14 780
FOEAHMA XIF3 2 10,000 0 10,000
201 L2l 500 0 500
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SN SHS
M =0l #F MO TR(SHE)
Sl FRIMESY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 500 0 500
1. 8TZ20lEe EESHE S(2 X¥s9)
500,000 =14l 500
401 AlEHIZL 2 0HY| 5,000 0 5,000
01 Al&H| 5,000 0 5,000
1. 2882 AWML (R Kd939)
5,000,000 =14l 5,000
405 XHo&HF S HI 4,500 0 4,500
01 AL 2 ZF S| 4,500 0 4,500
1.A Tl Bl IR RYU(F XEE Q)
4,500,000 « 1Al 4,500
TAIDJIBIAIE EHHI(S&ES) 5,000 5,000 0
T AIJIBHAIE & H| 5,000 5,000 0
A2S AMNAEE HH| 5,000 5,000 0
401 Al HI L £ 0HHI 5,000 5,000 0
01 Al& H| 5,000 5,000 0
1.0822 A= A2 5,000,000 =14l 5,000
HES2AAH(SHS) 931,777 892,965 38,812
olad 2 A Y| 799,207 764,801 34,406
oled A Y| 799,207 764,801 34,406
101 21 214| 769,027 739,361 29,666
01 B4 769,027 739,361 29,666
(23) 555,234
1.92 /(1Y) 82,125
.S 78,966,000 x1H 78,966
Lt X <& Hl 78,966,000 x4% 3,159
2. 834 (159) 473,109
.63 (245 2) 3,932,700& x2H x12& 94,385
Lh.72(1582) 3,058,600 x5 x12& 183,516
th.s=2(s=2) 1,959,700 x5 x12& 117,582
ct.92(382) 1,650,800 3% x12& 59,429
OF. X S JH & HI 454,912,000 *4% 18,197
(At £g) 47,926
1TLUREBRA ¢ 1,780
ea2lR(72252)
3,616,700 x1H +4 1%~ 12& 1,780
2.8332 ¢ 473,109,000 x1/12 39,426
3. 32142 6,720
JF.25E 0] & 130,000 »3 x12& 4,680
LE. 108 0l & ~15 0] 8+ 60,000& 2H x12& 1,440
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SN SHS
BN BHLARY(SHE)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
Ct.54 0| &~10= O Gt 50,000& *1H x12& 600
(@IF:=RSES=) 7,440
1.4 7,440
[ ==\ 40,000& x5H x12& 2,400
LE.JIEHIS 20,000& *13H x12& 3,120
CHOIMZ2(EMXH) 60,000& x1H ~12& 720
ch. OAFS (AT RHLE O] Ab)
100,000& x1H ~12& 1,200
(E4222Y) 21,840
1.Ex82Y 21,840
h.s22+Y 70,000& «15H x12& 12,600
L.l 50,000& x4H x12& 2,400
CHAISI SXgRE 70,0002 x6H x12& 5,040
2 AISI S X YRS IHA S
30,000& x5H x12& 1,800
(ZB224Y) 64,316
IR
10,509& *34 Al 2tx15H x 128 64,316
(AlHlI2a 5) 72,271
1. 8 HZAH| 130,000& x16H x12& 24,960
2.9 &E = JtH| 473,109,000 x1.2/12 47,311
204 &R = A H| 30,180 25,440 4,740
02 238 x| 30,180 25,440 4,740
1.2 32 X4 30,180
ot.52 250,000& x1H x12& 3,000
Lt.62 165,000& x2H 128 3,960
Ct.72 155,000 x5 «12& 9,300
cl.8~9= 145,000& x8H 128 13,920
DIR= sl 132,570 128, 164 4,406
&l 132,570 128, 164 4,406
201 Bt A H| 76,700 69,794 6,906
01 AP 2t2l bl 28,516 24,352 4,164
(eeta==24|) 14,632
1. 2829 +8H| 300,000& *16H *80% 3,840
2.0HZERANRES 100,000& =128 1,200
3.EREIEH/EH 250,000& *50H x4 3] 5,000
4.0150|el2 16,000 2L x2 0 x6 & 384
5.2MNEEIEY 150, 000& *2CH 23] 600
6.2 ASHANLZSEX 80,000 »15F A 1,200
7.F00SEsx2d=22X 26,000 *308F A 780
8.}/ MEE Y 16,000& *23| * 144 A 448
S HSUIIE =X 480,000 =2CH 960
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L= B

el

02 oM
ro oz
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[mn
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02
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]
om

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
10. 2 LA 35D 20,0002 = 11CH 220
(2g=¢) 600
1. 9= 60,000 x1H 10 600
(S2) 9,216
1ol esssag Al
8,000& «6AIx16H x12& 9,216
(dxtz) 4,068
1. 80|94 30,0003 *2CH+128 720
2. HIOYXZ 25,0003 4CH*12& 1,200
3.2 EEED Y= 179,000& «1CH 128 2,148
02 =24l 48,184 45,442 2,742
(S322LHA) 42,512
1.28= 7,452
Jb. gt 3803 *200H «12& 912
L. S0l 2,180& *25021 x 128 6,540
2.80|l= 2,500,000& x12& 30,000
3.4t 250,000& »12& 3,000
4 NSREFES 400,000& x13] 400
5 HEXY BEE= 750,000 »2H 1,500
6. HFXS HSIHA(2TH) 160, 000& * 12/ 160
(A=24l) 684
1.=QUXXNAH sloa(2E)
9503 *44 *3Al2tx60L 684
(A8 & Hl =X dl) 4,988
1. 8AH 2 2,000,000& 2,000
2. HAFLSEH| 100,000 *1CH 100
3.2AMESD 100, 000& »2CH 200
4. 20 EQAAE S EHI
33,0003 *4CH+42 DI 528
5. AZAAMAAE KRS 2l
30,000& x1CH =128 360
6. HEXYE FFHI 100,000 » 1+ 12& 1,200
7. HEXE ==clhl 100, 000& *2CH =33l 600
202 04l 42,000 39,300 2,700
01 = LHA YI 9,600 9,600 0
1.2 WA I 20,0003« 10 x»4H x 123 9,600
02 M0 32,400 29,700 2,700
1. 2H0 225,000& x12H «12& 32,400
203 YR =] 9,820 10,410 A 590
01 JI228 2= 5,940 7,110 A1,170
11222 HRF8H| 6,600,000& »1E x90% 5,940
02 BRIt REAY| 640 600 40
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N = 0l & At & Ml A

A LB H DIEISEI A D8S ~ 2RS

20208 & 20

SN 29S
M =0l #F MO £2(2LE)
el EOIMERY CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=23 1,135,453 1,054,080 81,373
F0 WY B SR(22RS) 188,036 132,436 55,600
FUMHZY 188,036 132,436 55,600
=.Bt& K& 159,120 111,520 47,600
301 LPEAZF 159,120 111,520 47,600
05 8% -0 -tH¥ESE4S 159,120 111,520 47,600
1.88+=2¢E sl 159,120
FIlE=g 300,000& *34H «12& 122,400
L. &= 300,000& 34 +23| 20,400
Ch.3l o & A =g 20,0003 34 «23|« 128 16,320
FOUNXNEMHEZ OS2I 15,696 15,696 0
201 €24l 15,696 15,696 0
01 At 22l 15,696 15,696 0
(Zer==gHl) 1,296
1.FE XX EEH2E 120,000& =122 *90% 1,296
(2g=4¢) 14,400
1.FUXX B2 A= 14,400
QI WA(H) 25,0002 *8Al 2+ x 122 2,400
Lh. RItna(2F) 25,0003 *8Al 2t+128 2,400
Ch.=28013 25,0003 *8Al 2+ =122 2,400
et HAATR(EZ) 25,0002 *8AI2H+12& 2,400
O HAAZX(ZEZ) 25,0002*8A2t+128 2,400
Ht. 2 et A 25,0003 *x8Al 2t 128 2,400
FANRX 22 3,220 3,220 0
307 glz2+ol & 3,220 3,220 0
05 RIZt2IE = 3,220 3,220 0
.23 el 200,000 122 2,400
BN E ST U2
110,000& 10 £ %23] 220
JASANLHAYB L4 2
50,0003 100 2~ +128 600
QI E O 0l & X S 3] 2 AL 10,000 2,000 8,000
401 AIEHI L 20 10,000 0 10,000
01 A& HI 10,000 0 10,000
.=A0 =8 FA32 MG (P XLs Q)
10,000, 000& * 14 10,000
SADJIBAIE BUHI(22RS) 5,000 5,000 0
S AIDJIEHAIE & HI 5,000 5,000 0
A==2 ANEE FHI 5,000 5,000 0
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2N 22S

HE: CADIMAY FUI(29S)
Sl TAIDIBHAIE FHI (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2

401 AIEBI L 2CHEI 5,000 5,000 0
01 A& dl 5,000 5,000 0

1.423 NE2 sA2el 5,000,000 * 14 5,000
#Y2HAH(ZLS) 942,417 916,644 25,773
el 2l 836,977 808,784 28,193
eI =gl 836,977 808,784 28,193
101 @124 8] 806,677 781,484 25,193
01 2=+ 806,677 781,484 25,193

(23) 555,227

TLesSM0g) 82,125

s 78,966,000& 1 78,966

Lt. X < IH & i 78,966,000 *4% 3,159

2. 2328 (159) 473,102

6= (265 8) 4,022,400 «38 x12& 144,807

u.7209s8) 2,571,900 x4H »12& 123,452

Ct.8=(658) 2,050,200 «6E «12& 123,012

2t.9=2(688) 1,767,600 x3H « 12 63,634

OF. X S i & I 454,905,000 & *4% 18,197

(Ao +==) 48,546

1.82+¢ 473,102,000& *1/12 39,426

2.832xgmtt= 9,120

Jb.253 01 & 130,000& »1& x 122 1,560

Lt.208 01 &f~25E 012t 110,000& 2 »12& 2,640

Ct. 100l &8~15 012t 60,0002 x 12« 123 720

ct.5E 0] &~10= 0] 8t 50,0003 x7H 12 4,200

OH28+¢) 43,877

1.t & 6,000

Jb. B <Xt 40,0003 »2H x12E 960

LE.JIEHES 20,000 x10H 128 2,400

Ch.2MIt= 60,0003 x2H x 12 1,440

et A OLtE 100,000& »1& x12& 1,200

2.850t s8¢ 1,500,000 x2H « 12 36,000

. AESHEEE 469,080& *47| 1,877

(S=22=¢) 22,440

1.5+82+¢ 22,440

.27+ 70,0002 x 15«12 12,600

L. 2R 50,0003 *3H x12& 1,800

CH AR SRR +E 70,0003 x7H ~12& 5,880

ch AL SN2+t 3
30,0002 x6H *12& 2,160
(Zn22+Y) 64,316
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N 228
B #HL2ARY(22E)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
EEEEEE
10,5093 *34 Al 2t 15H « 123 64,316
(A2 5) 72,271
1.8 Mg Al 130,000 16 128 24,960
2. BEF Ot 473,102,000 *1.2/12 47,311
204 AR AH| 30,300 27,300 3,000
02 22 =4 30,300 27,300 3,000
1.4 g8 x| 30,300
ot.53 250,000 x 18 128 3,000
Lt.62 165,000& 3 128 5,940
tt.72 155,000& »4H 123 7,440
ct.8~92 145,000 8H x12& 13,920
JlE3l 105,440 107,860 A2,420
JlE2&l 105,440 107,860 A 2,420
201 L2l 48,320 47,990 330
01 At 22l 23,858 23,858 0
(dBr=&Hl) 14,042
1. 2A2E =2l 300,000& » 16X x80% 3,840
2. T2 HEY 200,000 »4CH x4 3] 3,200
3.Z2HEH 150,000 »4CH 13l 600
4.01&80|el2 30,000& x1CH~ 122 360
5.2AMESIIEY 180, 000& *2CH =33l 1,080
6.0LSHANLSEN 80,0003 9 A 720
7.FUSESE2L2EA 26,0003 #1772 A 442
8. =ALEX 20,0002 50 A 1,000
Q.UHIZHRARES 100,000& =122 1,200
10. 2152012l bl 200,000& *13] 200
11.tECI X (2HEZ2IED]) 80,0003 48 A 320
12.8JIdX= 30,0003 «3CH*12& 1,080
(2g=¢) 600
1.29=8g 60,0003 x1H 10 600
(=4l) 9,216
1128 R+=#E254H|
8,000 «6AIx16H <123 9,216
02 2324l 24,462 24,132 330
(S32L2LHA) 18,748
1.9282 6,828
Jb. et 380&+350H4 +12& 1,596
Lh. S0l 2,180& *20021 x12& 5,232
2.80l=2 650,000 128 7,800
.40t ER3 50,000& x12& 600
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N 228
B #HL2ARY(22E)
erel: Jl= 2| (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
4.0Hl2s &Mo12 100,000& ~12& 1,200
5.0l0l2sS0 &dt+=22 25,000& =128 300
b.ESMAXNHFEE = 750,000 *2CH 1,500
7. SHIAXNHSINEREE S 70,000& *23] 140
B.SHIAXNHESE I AMN=E 50,000& 23] 100
9. SHE XSS XA 90, 000& *2CH 180
10.SHENENSIAHEES 100,000& x13] 100
(A& YIS XHl) 5,714
1.23ANAS S X E b 900,000 900
2.2 AT S| 100, 000CH ~2CH 200
J.SHAXNEFSFUH 90,0002 *1CH*x12& 1,080
4. SHAE X 4=2l ] 100, 000& *2CH 33| 600
5.24J| K Xl Hl 50, 000& *3CH 150
6.3 A S EHI S XY 100, 000& *1LH 100
7. SHEONENSIASSFU
15,000 x1CH = 12& 180
8. 2O EOIAI AKX E 4=H]|
33,000& *2CH x4 3] 264
9. NS UAAIAR KX 2=H|
30,000& 10 = 12& 360
10.82J1&8J18E A &2lH 90,0003 *12& 1,080
11002 & 2 22l bl 100, 000& ~2LH 200
12.8I)ASXHEIANERS
50,000& 10~ 12& 600
202 04 d| 42,300 42,300 0
01 2L Y] 7,200 7,200 0
1. =AY 20,000& 10 x3H x12& 7,200
02 EHN Y| 35,100 35,100 0
1.8 %Yl 225,000& 13 «12& 35,100
203 &R =&H| 9,820 9,820 0
01 J|22H L R=XH| 5,940 5,940 0
10|22 R =8| 6,600, 000& 1 x90% 5,940
02 RIS 2 =X H]| 640 640 0
1. 3R IMAE 2 F X 40,000 16 640
04 A2 Y2EX Y] 3,240 3,240 0
1. 2N2EYERFAH] 300,000 *12& *90% 3,240
204 = 2 4= A H| 1,800 1,800 0
01 M HRLHAH| 1,800 1,800 0
1. A=A 1,800
. s 150,000& x 18 x12& 1,800
405 Ko SHI 3,200 5,950 N2,750
01 JHAY =2 Z F S H 3,200 5,950 N2,750
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% 5 - 4
CB SR (B) - KIRAY - BES Ol &+ o4 e
1.4 O 2,000,000 » 14! 2,000
2. 54UE X 300, 0002 *2H 600
3.9HBIR 300, 0002 *2H 600
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